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Question Number : 1 Question Id : 7532297080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Puneet, Raghav, Mohit, Sanjay and Siddharth are watching a movie sitting adjacent to each other in one line. Only one
person sits between Siddharth and Raghav. Siddharth is second to the right of Mohit. Raghav is to the immediate right
of Puneet. Who is sitting to the immediate left of Sanjay?

Options :
1« Mohit
> % Siddharth

3 % Puneet



4 % Raghav

Question Number : 1 Question Id : 7532297080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1w e
2. ﬁ!@?—f
5, B

4_$3W

Question Number : 2 Question Id : 7532297081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P.Q.R. S, T, U, Vand W are sitting in a straight line. All are facing north. P is fifth to the left of T who is to the
immediate left of the person who is at the corner. R is third to the right of W. Only S is between P and R. Q is to the
immediate right of R. V is between T and Q. Who is sitting at the third place from the right end?

Options :

1. % P



2‘23 R
3.V

4. % U

Question Number : 2 Question Id : 7532297081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % P

> # R
3.V

4 % U

Question Number : 3 Question Id : 7532297082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Reeta is 15™ from the left end and 54™ from the right end in a line of students. Shvama is 48™ from the right end. How
many persons are sitting to the left of Shyama?

Options :

1. ® I'z



4.« 20

Question Number : 3 Question Id : 7532297082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1. e St U A A AR Y 1S R e AR Y s A R S I S RR T 4st RF W B | ST &
e 2R - G 96 22

Options :

1. # Iz

2. ® 18

Question Number : 4 Question Id : 7532297083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five teachers K, L, M, N and O take class on one of the five days from Monday to Friday. Each day one teacher takes
the class. N is neither on the first nor on the last day. L teaches just before M. K is not on Monday. N is not on Thursday.
O is not on Friday. N teaches just after K. On which dayv does O take the class?

Options :



| Monday

, % Tuesday

3 % Wednesday

4 % Thursday

Question Number : 4 Question Id : 7532297083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| v HHaR

» % HIGAR

;v TR

4 % JPAR

Question Number : 5 Question Id : 7532297084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Six boxes numbered 1 to 6 are kept one on the other. Each box contains one of six items rice, salt, turmeric. cumin,
sugar and soap. The topmost box contains turmeric. Box 1 is just above Box 2 which contains soap. Rice is in the box
which is just above the box with sugar. Box 3 is above Box 5. Box 6 1s just above Box 3. Box 1 1s just below Box 5.
Cumin is in Box 4. Total two boxes are below the box which contains salt. Which box is the fourth box from the bottom
and what does it contain?
Options :
| » Box4, Cumin

) Box 5. Sugar
3 % Box 5. Soap

4 % Box L, Salt

Question Number : 5 Question Id : 7532297084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| x SIGH4, SR

| s, 96



s x SIS WG

4 % G161, THSD

Question Number : 6 Question Id : 7532297085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A company’s four departments i.e. HR, Production, Marketing, and Operations have its office on one of four floors;
from floor 1 to 4. Each floor is managed by one of the four managers Rahul, Arnima. Nakul and Abdul. HR is on floor 3
but is neither managed by Nakul nor by Arnima. Production and operations are not on floor 1. Operations are not
managed by Arnima. Rahul works on floor 2. Who manages the HR department?

Options :
1 ® Nakul
7 « Abdul

3 # Rahul

4 % Arnima

Question Number : 6 Question Id : 7532297085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

L%W

2. v IgT
3 % q—l_ﬁa
4. % Hﬁm

Question Number : 7 Question Id : 7532297086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:
Mo artifact is wood.
No wood 1s soap.

Conclusions:
I. No soap is artifact.
IL. No soap is wood.

Options :



| % Only conclusion I follows.
»  Only conclusion II follows.

3 % Neither conclusion I nor II follows.

4 % Both conclusions I and II follow.

Question Number : 7 Question Id : 7532297086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 8 Question Id : 7532297087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:

All computers are robots.

No robot is machine.

Some calculators are computers.

Conclusions:

I. Some robots are computers

IT. No computer is machine.

III. Some calculators are robots.
Options :

| % Only conclusion I and II follows.

»  All conclusions I IT and III follow.
5 % Ouly conclusion II and III follow.

4 % Only conclusions I and IIT follow.



Question Number : 8 Question Id : 7532297087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 9 Question Id : 7532297088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Three statements, [, IT and III, each containing some information are given.

Statements:
1 G=N>P<M
II. D<U<H<N
I11. M<K=Q=]

Which of the following conclusions is correct on the basis of the given statements?
Options :
1% G=M

5 % M=1
3. I=P
4% Q=P

Question Number : 9 Question Id : 7532297088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1 # G=M

3. J=P

4% Q=P

Question Number : 10 Question Id : 7532297089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among 7 students of a class, A, B, C, D, E, F and G, B scores more marks than only three other persons. Only two
students score more than D. C scores more than A and F. D scores less than E and G both. E is not the topper. F scores
more marks than A only. Who scores more marks than B but less than E?

Options :
& C

2.¢# D



Question Number : 10 Question Id : 7532297089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1 ®% C

Question Number : 11 Question Id : 7532297090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code langnage, MOCKERY is written as COMKYRE, DEVOTEE is written as VEDOEET. How will
LUCKNOW be written in that langnage?

Options :

1. ® CULWKNO



» « CULKWON
3 ® CLUKWON

4 % CULKOWN

Question Number : 11 Question Id : 7532297090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U% (% He Y § MOCKERY %I COMKYRE. DEVOTEE &I VEDOEET [l Il & | 341 & YN H
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Options :

| % CULWKNO

» « CULKWON
3 # CLUKWON

4 % CULKOWN

Question Number : 12 Question Id : 7532297091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code langnage, PROSE is written as GUQTR, NORM is written as OTQP. How will REL ATE be written in
that language?

Options :
1 ®# GVBNGS

, # HVCNHT



3 % GUCOGT

4« GVCNGT

Question Number : 12 Question Id : 7532297091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ®# GVBNGS

, # HVCNHT
3 % GUCOGT
4 ¢ GVCNGT

Question Number : 13 Question Id : 7532297092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, TURKEY is coded as 76916222, How will CRAWLER be coded in that language?
Options :

1. % 24916415228

) # 22926415259



3 @ 24926415229

4. % 24926512229

Question Number : 13 Question Id : 7532297092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh (i%d &c YN H. TURKEY 1 76916222 R8T SIId1 8 | 341 &¢ HINT H CRAWLER %! fdhd YR feradl Siiee
Options :
| ® 24916415228

5 ® 22926415259
3 24926415229
4 % 24926512229

Question Number : 14 Question Id : 7532297093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, FOUL is coded as 216, COW is coded as 123. How will RINSE be coded in that language?

Options :
1. % 280

5 & 325



Question Number : 14 Question Id : 7532297093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 280

5 & 325

Question Number : 15 Question Id : 7532297094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
You have to determine the code for the given word. Consider the following table for letters and their respective codes.

R |[wW_|E SEE
& |= %

= = Yo -+

Letters | P N
Codes S #

= |

a) If the first letter is a consonant and the second letter is a vowel. use 2 as the code for both the letters.
b) If the second letter is a vowel and the fourth letter is a consonant, then use 4 as the code for both the letters.

What is the code for ‘POWERS?’ as per the given information?
Options :
1. ® jzzm&—



3. ® 22=<0%t

4, % Sd=4 &+

Question Number : 15 Question Id : 7532297094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

5 @ 22=<&+

3 % 22=<0+



4. % Sd=A&—

Question Number : 16 Question Id : 7532297095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

You have to determine the code for the given number cluster. Consider the following table for numbers and their
respective codes.

Numbers |1 |2 |3 |4
Codes G|R|C A

6 |7 18 |9
WIY |S |E

|t

a) If the first and fourth numbers are odd numbers, then both the numbers will be coded as Z.

b) If the second and sixth numbers are even numbers. then both the numbers will be coded as F.

¢) If the third number is an even number and the seventh number is an odd number, then both the numbers will be
coded by X.

What is the code for 74684953 as per the given information?
Options :

| % YFWSAFXC

7 # YAXSAXRC

3 % ZAWZAELC

4.« YAXSAEXC

Question Number : 16 Question Id : 7532297095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
| % YFWSAFXC

» % YAXSAXRC
3 % ZAWZAELC

4. v YAXSAEXC

Question Number : 17 Question Id : 7532297096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vikrant is facing north. Then he takes a 90 degree clockwise turn. Finally, he takes a 225 degree anticlockwise turn. In
which direction is he facing now?

Options :



1 % South-east
7 « South-west
3 % North-east

4 % West

Question Number : 17 Question Id : 7532297096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® HF&{UT‘Jﬁ
, v GIRU-UiEH
3. % Wtﬁ

4 = TFEH

Question Number : 18 Question Id : 7532297097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a clock’s minute hand points towards the south at 12:00 noon, in which direction will the hour hand of the same clock
point at 6:00 a.m.?



Options :
1« North

> % South
3 % North-west

4 % South-east

Question Number : 18 Question Id : 7532297097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

¢ 9

5 % GIGIul
5 % 3O-OfgH

4. % EF&{UTﬂﬁ

Question Number : 19 Question Id : 7532297098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If Sumitra’s mother is the only sister of Raj’s mother Nandini. then how is Nandini’s mother related to Sumitra?



Options :
1. % Paternal aunt

> % Maternal aunt

3 Maternal grandmother

4 % Paternal grandmother

Question Number : 19 Question Id : 7532297098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1% Tl
> % AMHE
3. v
4% G

Question Number : 20 Question Id : 7532297099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pointing to the photograph of a man, Chirag said, “He is my mother’s daughter’s husband Vishal’, how is Vishal’s wife’s
son’s mother related to Chirag?



Options :
1. % Mother

, % Daughter
3 « Sister
4 % Niece

Question Number : 20 Question Id : 7532297099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh 3TGH] i TRAR DI 2R ST Hrd §U ORI A el gg A1 | &1 G2t &1 Uil fa2ine g, faie o1 udll & g3 &l
qi &1 FeRTT 9 &1 994 29
Options :

1% A
6 T
3 ¢ 961

4, % Tl

General Ability2

Group Number : 2
Group Id : 753229366



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Ability2

Section Id : 753229366

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229441

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532297100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language.

‘A% B means “A is the son of B’
‘A -+ B means A is the wife of B’
"A (@ B" means ‘A is the father of B’

IfP@V @N+K%Z+ Q. then how is Q related to N?
Options :



1 % Father
> % Brother
3 « Father-in-law

4. % Son

Question Number : 21 Question Id : 7532297100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1, % T
) % MR
3.0 TR
ax H



Question Number : 22 Question Id : 7532297101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language.

‘A § B’ means A is the brother of B’
‘A # B means “A is the sister of B”

"A (@ B’ means ‘A Is the son of B’

‘A > B’ means A is the husband of B*

IEMSK#R@T=U#P @ Y. then which of the following statements is NOT correct?
Options :
1.« Y is the mother of T.

> % U is the mother of K.
3 % T is the father of M.

4 % M and R are brothers.

Question Number : 22 Question Id : 7532297101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
| v LTHIHEI

, % UKBIHIEI
; » LM UG

, % MARRHEE

Question Number : 23 Question Id : 7532297102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘View’ is related to ‘Binoculars’ in the same way as *Dig’ is related to *
Options :

| Spade

o % Scissors
3 % Tongs

4 % Chisel

Question Number : 23 Question Id : 7532297102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG (View)' Bl "GI6I (Binoculars) Y gel gae 5, w (Dig)®T*____ "3l



Options :

L $ald (Spade)
) ® W{SCLSSDIS}
3 % ﬁlﬂﬂﬂbngsi

4 % Ol (Chisel)

Question Number : 24 Question Id : 7532297103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘TACKT2 is related to "MXFH494" in the same way as *‘POSE24" is related to * 2
Options :

1. % SLVH425

» % SKVA416
;. % SLVB216

4 « SLVB416

Question Number : 24 Question Id : 7532297103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TACK72' &1 'MXFH494' Y 981 UdY 8, Sl 'POSE24' Bl "Bl
Options :



| % SLVH425
» % SKVA416
3. % SLVB216

4 « SLVB416

Question Number : 25 Question Id : 7532297104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the one
that is different.

Options :

| % TYDIN

, % PUZEI
3 CHNRW

4 % AFKPU

Question Number : 25 Question Id : 7532297104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR HeR-g fGu e 8, fomH 9 i fordl dig 9 971d © oIR U [T 8| Sf7d &l 99 difod|

Options :
1. % TYDIN




, % PUZEJ
3 « CHNRW

4 % AFKPU

Question Number : 26 Question Id : 7532297105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four letter-cluster pairs have been given, out of which three are alike in some manner and one is different. Select the
one that is different.
Options :

| % NEAT : MCXP

» # DOCK : CMZG
3 % FAIL:EYFH

4« NORM : MMPJ

Question Number : 26 Question Id : 7532297105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR 21eR- g UM §, fomH O o forelt ovg 9 T § 3R Ueh 2T 81 3(RTd 1 9o Siforg |
Options :
| % NEAT : MCXP

, % DOCK :CMZG



3 % FAIL:EYFH

4 « NORM ;: MMPJ

Question Number : 27 Question Id : 7532297106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number from among the given options that can replace the question mark (?) in the following series.

18, 34, 59, 95, 144, ?
Options :

| % 202

5 & 208

Question Number : 27 Question Id : 7532297106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U fOpedl & ¥ 34 UE &1 994 Sifog, o HgfaRad oo # U 798 () & ®IH W 31 9&dl g

18, 34, 59, 95, 144, 7
Options :

| % 202



Question Number : 28 Question Id : 7532297107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the number that does NOT belong to the following series.

21,22, 46, 141, 568, 2840
Options :
1 ® 46

Question Number : 28 Question Id : 7532297107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 T I UggH %1, o Ffafad 9o o 96 agt gl

21,22, 46, 141, 568, 2840
Options :



Question Number : 29 Question Id : 7532297108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the fourth number in the same way as the first number is related to the second number
and the fifth number is related to the sixth number.

14:515:2:0606 512 :38
Options :
1.« 16

Question Number : 29 Question Id : 7532297108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



I [qheq 1 99 SHifeie, foresT 1ol §e 9 a8l Uy 8, Sl Ugdl &1 & gas] S8l ¥ ¢ 3R Uradl GBI &l
S0 YA Y g |

) R T i s
Options :
1.« 16

) # 18

3 % 20

Question Number : 30 Question Id : 7532297109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the numbers are related in the same way as are the numbers of the following set.

14, 9, 722
Options :
| % 12, 8, 462
) % 19, 7, 645

3 8 17,1250

4 % 13.9,860



Question Number : 30 Question Id : 7532297109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [qeeq o1 999 i, forad €1 715 Seell & &g 96l 49y &, S (3T 7Y 9ig &1 Gl & 414 o

10,9, 722
Options :
| % 12, 8, 462

5 % 19.7.645
3 @ 8 17,1250
4 % 13.9.860

Question Number : 31 Question Id : 7532297110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four number-pairs have been given, out of which three are alike in some manner and one is different. Select the one that

is different.
Options :

1. % 17:187
o ® 15:165
3 % 14:154

4 ¢ 21:211



Question Number : 31 Question Id : 7532297110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR YET-gW UL g, for O fiF fordl aRg © T € 3R U 2ETd 81 2RI &1 99 $ifa|

Options :
1. ® 17:187

» % 15:165
3 % 14:154
4 21:211

Question Number : 32 Question Id : 7532297111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option correctly represents the approximation of the given number to three decimal places?

102.965932
Options :

1.« 102.966
> # 102.965

3 % 102.960

4 % 102.900



Question Number : 32 Question Id : 7532297111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&I 91 fGhed 21 718 T8I & di SXHas I a6 9ieded & 98! ¢f1 9 SxIidr g2

102.965932
Options :
1.« 102.966

5 % 102.965

3 % 102.960

4 % 102.900

Question Number : 33 Question Id : 7532297112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A denotes “addition’, B denotes "multiplication®, C denotes *subtraction’, and D denotes *division’, then what will be
the value of the following equation?

45C34B2A60OC (28D T7)D2=7
Options :
1% 45

) # 42
3.¢ 35

4 % 37



Question Number : 33 Question Id : 7532297112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e A &1 3 STl 8, B &1 34 U €, ‘¢ B 3% FeHr § 3R D &1 o1 YFT 8, 1 FufiRad &isis &1 a9
1 I

45C34B2A60CR2ED7)D2="7
Options :
1% 45

) w42
3.9 35

4 % 37

Question Number : 34 Question Id : 7532297113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two numbers should be interchanged to make the following equation correct?

11+26—-40+10x5=17
Options :
1 % 10and 40

7 % Sandll



3 « 1l and 26

4 % 26andS5

Question Number : 34 Question Id : 7532297113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fU 70 GHIH0] &1 Tel HA & fort {5+ gl et &l ouy | dea ol a1fel?

11+26-40+10%5=17
Options :

| % 1031 40

5 % 53N LI

s v 11326

4% 263K 5

Question Number : 35 Question Id : 7532297114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that can replace the question mark (?) in the given figure and complete the pattern if no rotation
allowed.

Options :

N X [N [

Question Number : 35 Question Id : 7532297114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 fached &1 707 % ol 31 7S Spfa # Uy g (0) B IfRenfid % T € SR e ol TR R Gobdl 8 afg
g &1 AR Tl &

Options :




Question Number : 36 Question Id : 7532297115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to figure C in the same way as figure B is related to figure A.

Gl & &
N L P B
G% J\E ?C D

1.

3. ¢




5

?

Question Number : 36 Question Id : 7532297115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 faehey BT 98- & Wl SHid ¢ J I UHR Jaidd g 1579 TbR HHId B, 3Hid A Y e g

L & &
L | F |, ‘f
o% _j\ﬂ :‘TL)C D




3. ¢

Question Number : 37 Question Id : 7532297116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three of the following four figures are alike in a certain way and one is different. Select the odd one.
Options :

——

AV
Y/

3. %



/S
&

4. |

Question Number : 37 Question Id : 7532297116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FalaRed IR gl ¥ 9 diF fedl ve [ alie 9 9a & SR Us [A9a 81 378 9 (999 &1 99+ &1
Options :

[o\/o\

Y
VAVAN
AV
>

L



Question Number : 38 Question Id : 7532297117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the correct mirror image of the given combination when the mirror is placed at PQ as shown.
P

EUCLIDEAN

Q
Options :

. %« ENCITDEVH
, v MAZQIINDUH
;. x MAZQIIDUH

4. ENNCTIDEVH

Question Number : 38 Question Id : 7532297117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U T YgIoi & Tel auul widfss &1 99+ &< oid gUUl &l [T 1T 3{98R PQ WR 3@ 41 ¢ |

P
EUCLIDEAN

Q
Options :



.« ENCITDEVH
, v MAZQIINDUH
;. x MAZQJIIDUH

.%* ENCTIDEVH

Question Number : 39 Question Id : 7532297118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the

following figures. How would this paper look when unfolded?

Options :




Question Number : 39 Question Id : 7532297118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- e N T

BTG & b ThS Dl AIS &1 hH HR 159 TR T HS §UBNTS &bl HIcl 741 8, 98 1914 HI FEfaRad +sia]
4 feamr 1 ¢ | WA WR g8 TS Byl [Gdls oil?

Options :



Question Number : 40 Question Id : 7532297119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option in which the given figure is embedded (rotation is NOT allowed).

Options :




Question Number : 40 Question Id : 7532297119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 e &1 90 3 forad 1 15 #fiepfd wffed § (FaH 1 oAl Tel ©)|

Options :




General Awarenessl

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

3
753229367
0

0

No

No

0

20

No

General Awarenessl

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

753229367
1

Online
Mandatory
20

20

20

Yes

1
753229442
Yes



Question Number : 41 Question Id : 7532297120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the Supreme Court of India first recognize transgender people as a third gender?
Options :

1. % 2012

2. % 2013

3.4 2014

4. % 2015

Question Number : 41 Question Id : 7532297120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA & gared ey A oy Iy eiyeier afdad! &! Jaid o & &9 § Ugel IR Al YaH 12
Options :

1. % 2012

2. % 2013

3.+ 2014

4. % 2015

Question Number : 42 Question Id : 7532297121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In October 2021, the International Monetary Fund (IMF) announced that would step down as its Chief Economist and Director of the
Research Department in January 2022.

Options :

1. # Maurice Obstfeld
2. ¥ Gita Gopinath

3. % Simon Johnson
4. #* Olivier Blanchard



Question Number : 42 Question Id : 7532297121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SfFZER 2021 H, SIS YT BV (31%.TH.UB.) 4 Ig YU bl b SaR1 2022 H 38 SFIIYTH fIHNT o G 31=Iel Td
fAGRI® &1 UG BIg &7

Options :

1. % TIRY Sficethes

2. ¢ Wi MdATYy

3. % gIgHT S

4. % 3fifoTeR sArTS

Question Number : 43 Question Id : 7532297122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In computer parlance, DNS stands for
Options :

1. # Dot Net Server

2. ¥ Domain Name System

3. # Domain Name Synchronization

4. % Document Name System

Question Number : 43 Question Id : 7532297122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S I YW H, DNS (SLTHTH) FT3 g gl
Options :

1. ® Dot Net Server (SIc Hc FaR)

2. ¢ Domain Name System (SH4 =9 f&eH)

3. # Domain Name Synchronization (@ﬁfﬂ BL| W:IE@"JFD

4. ¥ Document Name System (?:zllﬁﬂﬂ? 97 )



Question Number : 44 Question Id : 7532297123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following have won the Nobel Prize in Physiology or Medicine for the year 2021?
Options :

1. # Gerty Cori and Carl Cori

2. % Alva Myrdal and Gunnar Myrdal

3. % David Julius and Ardem Patapoutian

4. % May-Britt Moser and Edvard

Question Number : 44 Question Id : 7532297123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iy 2021 o1 IRR fora fagm a1 fafere (sforaatstt o AfeRm) &1 Fidd [ReeR Hafefed § 9 feam v fasar g2
Options :

1. % TEHRY 3R BT HRY

2. % 3eq] ST iR AR frda

3. ¢ 3fs Jfera 3R 31eH UersfeTs

4. % O.fyT AR 3R USas

Question Number : 45 Question Id : 7532297124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a scheme by the Government of India meant to meet the education and marriage expenses of a girl child?
Options :

1. # SWADHAR Scheme

2. % Mabhila Udyam Nidhi Scheme

3. ¥ UJJAWALA Scheme

4. ¥ Sukanya Samriddhi Yojana

Question Number : 45 Question Id : 7532297124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

YR WHR $I Fgfalea & § o I 9o, Sifaesi & Qfee ik dafes oadl & 1w ¥ Tafdd |2
Options :

1. % YR (SWADHAR) ST

2. % Higar 3| (i o

3. % IIgdl Ao

4. ¥ gh=a1 i IS

Question Number : 46 Question Id : 7532297125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year wasthe Jain community granted minority status in India?
Options :

1. % 1995

2. % 1981

3. % 2002

4. 2014

Question Number : 46 Question Id : 7532297125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 fod avf yRd & S THER $1 3euReTd &1 gl [T T 17
Options :

1. % 1995

2. % 1981

3. % 2002

4. 2014

Question Number : 47 Question Id : 7532297126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following sects/communities is known to be followers of 12th-century social reformer Basavanna and his vachana (verses)



philosophy?
Options :

1. ¥ Lingayats
2. % Udayars

3. % Paravars
4. ¥ Mukkuvars

Question Number : 47 Question Id : 7532297126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

121 TATed! & TATS YURS THGAT 3R 3% I9 (§6) G/ & AT o1 duy/Aagerd FafaRad & 9 o1 91 52
Options :

1. ¢ fefmad

2. ® G’—%QT?(Udayars)

3. # RAR

4, % TEIR/ IPpdR

Question Number : 48 Question Id : 7532297127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of November 2021, cricket players of which of the following countries hold the record for highest partnership by runs in T20 cricket format?
Options :

1. ¥ Afghanistan

2. # Australia

3. # India

4, % Pakistan

Question Number : 48 Question Id : 7532297127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AdeR 2021 T, FEfRed § § fg 32 & fhde faanfsal 3 120 fhde Ty # it 391 & TraiaR] &1 Rebrs s g3 82

Options :




1. ¢ BRI
2. % 3fiecfer

3. % YRd
4. % grfped™

Question Number : 49 Question Id : 7532297128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the headquarter of All India Football Federation?
Options :

1. % Kolkata

2. ¥ Delhi

3. ¥ Mumbai

4. ®# Bhubaneshwar

Question Number : 49 Question Id : 7532297128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R YRTT Pedld ATy BT JBITed S8l (RUd 82
Options :

1. % BIcADIdl

2. ¢ faeit

3. % 4ag

4. % YIIR

Question Number : 50 Question Id : 7532297129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following present-day states of India was the Kalinga war fought?
Options :

1. # Bihar



2. % QOdisha
3. # Maharashtra
4. % Jharkhand

Question Number : 50 Question Id : 7532297129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA U Sici &1 g, Fafaied & 9 forg aqam I o @1 mar aw
Options :

1. % fogR

2. 3fifsEm

3. % HeRIY

4. ® IRWS

Question Number : 51 Question Id : 7532297130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was the founder of Tughlaq Dynasty?
Options :

1. # Tughlaq Khan

2. ¥ Ghiyath al-Din Tughlaq

3. # Firuz Shah Tughlaq

4. # Abu Bakr Shah

Question Number : 51 Question Id : 7532297130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JTAH 9 BT TS Fafafad o 9 &F U
Options :

1. % JaD @l

2. ¢ (- 8- Jiretsh



3. % fihRiIol T Il
4. % 3[q SHR TG

Question Number : 52 Question Id : 7532297131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was The Rashtriya Swayamsevak Sangh (RSS) founded?
Options :

1. ¥ 1925

2. % 1926

3. % 1927

4. % 1928

Question Number : 52 Question Id : 7532297131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST WS Y (3R TH.TH.) B R fbg 9y g3 o
Options :

1. ¥ 1925

2. % 1926

3. % 1927

4, % 1928

Question Number : 53 Question Id : 7532297132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following terms collectively refers to the armed organizations that fought against the Pakistan army during the Bangladesh
Liberation War?

Options :

1. # Liberation Tigers
2. % Mukti Bahini

3. ¥ Bengal Tigers



4. % Freedom Bahini

Question Number : 53 Question Id : 7532297132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & 9 & 91 Ue, IMiE® U 3 IR W1 J Yafdd g, S Siaies Jfad g & QR gl 91 & faeg as 32
Options :

1. % foreReH e
2. ¢ Hfad arfgh
3. % §IE ey
4. % ey aifgt

Question Number : 54 Question Id : 7532297133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the founder of International Society of Krishna Consciousness (ISKCON)?
Options :

1. # Paramahansa Yogananda

2. ¥ Maharishi Mahesh Yogi

3. % A.C. Bhaktivedanta

4. ® Swami Satyananda Saraswati

Question Number : 54 Question Id : 7532297133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ZCYAA TR 3F U BRI (3T b YIS DI A2
Options :

1. % TRAGY INTHG

2. % TGN Te=T ARt

3. ¢ I, Hidkddgid

4. % WA YIS FI&Id!



Question Number : 55 Question Id : 7532297134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did former Indian prime minister Rajiv Gandhi sign the Indo-Sri Lanka Peace Accord in Colombo?
Options :

1. % 1986

2. % 1987

3. % 1988

4. % 1989

Question Number : 55 Question Id : 7532297134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & Yagd GeTHT Irofia et 3 fore af wicral & YRd-oficienr rifa T IR gxder fu 22
Options :

1. ®* 1986

2.9 1987

3. % 1988

4. % 1989

Question Number : 56 Question Id : 7532297135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the foundation stone of the Victoria Memorial, Kolkata laid?
Options :

1. % 1906

2. %1907

3. % 1908

4. % 1909

Question Number : 56 Question Id : 7532297135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faeiiar AUIad, iceTdr &1 Riamm fod oy faar mar a4
Options :

1. ¥ 1906

2. % 1907

3. % 1908

4. % 1909

Question Number : 57 Question Id : 7532297136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the term used for the presentation of the nine different human expressions / emotions in a dance?
Options :

1. * The Navranga

2. % The Navarasa

3. ®* The Navchetni

4. % The Navasura

Question Number : 57 Question Id : 7532297136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T o T fafie amdig sifiaafaaal/vamstt ! vRgfd & fore Fafafed o 9 farg ug &1 vt fran S g2
Options :

1. % a3

2.9 Aqdxy

3. % qqadHl

4. % AdqYR

Question Number : 58 Question Id : 7532297137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



____ dance is the folk dance of the snake charmers from the state of Rajasthan.
Options :

1. ¥ Kalbelia dance

2. % Sapera dance

3. % Ghomer dance

4. % Been dance

Question Number : 58 Question Id : 7532297137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG ORI TG & ORI BT Al A g
Options :

1. ¢ PIadierr Id

2. % I

3. % Y

4. % 993

Question Number : 59 Question Id : 7532297138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a major festival of Sikkim, celebrated by the Buddhist population of the state?
Options :

1. * Dree

2. % Lui-Ngai-Ni

3. % Moatsu Mong

4. ¥ Saga Dawa

Question Number : 59 Question Id : 7532297138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 o a1, Rifded 1 U6 UqE AER 8, S 59 & Sig Sl gRT J-m1 Sl 82




Options :

1. ® g

2. #® Ge-T-AT (Lui-Ngai-Ni)
3. % Ty givT

4.« Y ¢Idl (Saga Dawa)

Question Number : 60 Question Id : 7532297139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Maand" folk music is from which of the following Indian states?
Options :

1. # Bihar

2. # Chhattisgarh

3. ¥ Rajasthan

4. % Orisha

Question Number : 60 Question Id : 7532297139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'S ik il 1 ey HRd & fohd g 4 82
Options :

1. % fogR

2. % FNTG

3. ¥ STV

4. % 3fifg=m

General Awareness2

Group Number : 4
Group Id : 753229368

Group Maximum Duration : 0



Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

General Awareness2

Section Id : 753229368
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229443
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7532297140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states is known for “Baul” songs.
Options :

1. # Kashmir

2. % Goa

3. ® Kerala

4. ¥ West Bengal

Question Number : 61 Question Id : 7532297140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
"SI M forg Iy & Haifdd &2
Options :

1. ® HYR

2. % T

3. % PR

4.« UfYH SIS

Question Number : 62 Question Id : 7532297141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is of the following institutions is the Principal Financial Institution engaged in promotion, financing & development of the Micro, Small
and Medium Enterprises (MSMEs) sector?

Options :

1. ¢ SIDBI

2. # IDBI

3. ¥ NABARD
4. % TFCI

Question Number : 62 Question Id : 7532297141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁ@aﬁﬁﬁqumﬁ?ﬂuwﬁ%Gﬁﬁ&ﬂ,agsﬁwmsaﬂ(@.w@i)%%W,WW@?%W%WW

Options :

1. ¢ &4l (SIDBI)
2. % 313 S1§.3MMs. (IDBI)
3. % FTETS (NABARD)

4. % 3{13.T% ). 3113, (IFCI)

Question Number : 63 Question Id : 7532297142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the Foreign Direct Investment (FDI) limit in the insurance sector in India as of 31 October 20217
Options :

1. ¥ 74%

2. % 51%

3. % 49%

4. % 100%

Question Number : 63 Question Id : 7532297142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 S(ACER 2021 I YR T 11 &5 T ygef fag=ht Fawr (U gh.erms.) &t It farat ot
Options :

1. ¥ 74%

2. % 51%

3. % 49%

4. % 100%

Question Number : 64 Question Id : 7532297143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bombay High (now Mumbai High) field is an offshore oilfield located in the
Options :

1. ¥ Arabian Sea

2. # Indian Ocean

3. % Bay of Bengal

4. # South China Sea

Question Number : 64 Question Id : 7532297143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



J9 8 SE YR gR) B, # [Ud U& Uy ad & (aawies) §1
Options :

1. ¢ 3RE AR

2. % fgq HENITR

3. % §IT I @S

4. % YU IR

Question Number : 65 Question Id : 7532297144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Ministry of Petroleum and Natural Gas, in FY 2018-19, which of the following states is the highest producer of Crude Oil?
Options :

1. % Assam

2. % Mabharashtra

3. ¥ Rajasthan

4. # Gujarat

Question Number : 65 Question Id : 7532297144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UgIferay SR UTdhfad TN HATe & AR, fad aw 2018-19 H, FofaRad o 9 food o0 A &=l ddt &1 Haifiis Idre- faam
Options :

1. % 349H

2. % HeRIY

3. ¥ STV

4. % ToRId

Question Number : 66 Question Id : 7532297145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the India’s highest-commercial airport?



Options :

1. # Calicut International Airport

2. # Veer Savarkar International Airport
3. % Imphal Airport

4. ¥ Kushok Bakula Rimpochee Airport

Question Number : 66 Question Id : 7532297145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad o @ ®F 91, HRd &1 98 $d1 aiftifoid gaTs 3ig1 82
Options :

1. % PIclibe FARTFIT gaTS 37gT

2. % IR HaRHR SARIP gaTS Mg

3. % ST gaTg 31g]

4.« PRH THAT NI TS Mg

Question Number : 67 Question Id : 7532297146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per Census 2011, the approximate literacy rate at all India level is
Options :

1. ¥ 73%

2. % 52%

3. % 60%

4. % 46%

Question Number : 67 Question Id : 7532297146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2011 P STIUMAT & IR, 31T HRIT TR TR WI&RAT G TTHT gl
Options :




1. ¥ 73%
2. % 52%
3. % 60%
4. % 46%

Question Number : 68 Question Id : 7532297147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Citizenship (Amendment) Act, 2019 passed by the Parliament?
Options :

1. ¥ December 2019

2. # March 2019

3. % Jun 2019

4. ¥ May 2019

Question Number : 68 Question Id : 7532297147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARG AT (GRNe) AT, 2019 &1 T4 gRT o UIiRd fovar mar
Options :

1. ¢ fddsR 2019

2. % TIE 2019

3. % 12019

4. % T3 2019

Question Number : 69 Question Id : 7532297148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At the time of independence, India had an approximate population of
Options :

1. # 250 million



2. % 340 million
3. #* 180 million
4. % 460 million

Question Number : 69 Question Id : 7532297148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Al & THY, HRA B STTEGAT THT i
Options :

1. % 250 fafergm
2.+ 340 fafergm
3. % 180 faferga
4. % 460 fferam

Question Number : 70 Question Id : 7532297149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is India's largest floating solar PV project located?
Options :

1. ¥ Simhadri

2. % Bikaner

3. # Thiruvananthapuram

4. ¥ Sriperumbudur

Question Number : 70 Question Id : 7532297149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRd P! oY Fo! dat Tier 0t d). gRaeT wel f[Rud 82
Options :

1. ¢ Rywgife

2. % dIDHR




3. % fova-idqRe
4. % HUTAYR

Question Number : 71 Question Id : 7532297150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the biggest freshwater lake of Rajasthan?
Options :

1. # Udai Sagar Lake

2. # Pushkar Lake

3. % Fateh Sagar Lake

4. ¥ Rajsamand Lake

Question Number : 71 Question Id : 7532297150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ oF &, IoH B gad st Hid Ut & sitd 82
Options :

1. % I AR ¢ia

2. % IR i

3. % Thdg UNR Siid

4. ¢ STHE S

Question Number : 72 Question Id : 7532297151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Earthisthe  largest planet in the solar system;
Options :

1. ¥ 5th

2. % 3rd

3. % 4th



4. % 6th

Question Number : 72 Question Id : 7532297151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R ORASAPT GeA TSI UE o
Options :

1. ¢ grai

2. % AT

3. % 9T

4, % B4l

Question Number : 73 Question Id : 7532297152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is the world’s largest aluminum mine?
Options :

1. ¥ America

2. ¥ Australia

3. % Canada

4. ¥ India

Question Number : 73 Question Id : 7532297152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fay 3 Ted S} UegHifam o) I wl fRud 72
Options :

1. % 3AR®I

2. ¢ 3ficfer

3. ® PpAlST

4. % YRd



Question Number : 74 Question Id : 7532297153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cell organelles generate most of the chemical energy needed to power the cell's biochemical reactions?
Options :

1. ¥ Mitochondria

2. # Lysosome

3. ® Ribosome

4. #® Cytoplasm

Question Number : 74 Question Id : 7532297153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIfRApT BT FYfIRad § ¥ B 1 3faud, ST o1 oid Jgafe ifufrarstt & fore Huif Uer w1 & o siaxae sif¥ei Iamfae
Sl ST HIAT &2

Options :

1. ¢ HEcIpizal

2. % SHNEH

3. % AN

4. % PIADT G (TTSCIEH)

Question Number : 75 Question Id : 7532297154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a Fundamental Rights given to Indian citizen?
Options :

1. # Right to Equality

2. # Right to freedom

3. # Right against exploitation

4. ¥ Right for livelihood



Question Number : 75 Question Id : 7532297154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad & @ 1 a1, URdtg AT B! fa T v Aifeed ifeR T8t 72
Options :

1. % A BT YR

2. % IAAAT BT SHYDR

3. % QYU & [d9 SHUBR

4. ¢ 3TSiiTdehT BT TYBR

Question Number : 76 Question Id : 7532297155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which committee recommended the inclusion of a separate chapter on fundamental duties in the Constitution?
Options :

1. ¥ Swaran Singh Committee

2. % Harendra Coomar Mookerjee Committee

3. % B. N. Rau Committee

4. % ]. B. Kripalani Committee

Question Number : 76 Question Id : 7532297155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg A = Widem & Mice Sl & Hait T U JUdh 3(eaTd FIRfTd B o1 SR &t A
Options :

1. ¢ qui Rig wfafd

2. % B¥% PUR ool 9Afd

3. %t T, 39 giwfd

4. % 9. &t YA FrAfd

Question Number : 77 Question Id : 7532297156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Comptroller and Auditor General of India submits his reports tothe ~ of India.
Options :

1. ¥ President

2. # Prime Minister

3. % Finance Minister

4. # Chief Justice

Question Number : 77 Question Id : 7532297156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA & a3 HeTeral U@ St RUIC URA &S & qHe  Ugd 3d g |
Options :

1. ¢ gufd

2. % JYFHA!

3. % fad #:=f

4. % T YR

Question Number : 78 Question Id : 7532297157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name given to the benches of the Supreme Court of India which consists of at least five judges of the court?
Options :

1. # Legal bench

2. ¥ Regional bench

3. ¥ Constitution bench

4. % Division bench

Question Number : 78 Question Id : 7532297157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HRd P Jafd AaTed Bt 31 UIa! 1 ot A1H feam mar 8, S <uramerd & &H A $H Ui i gid 82
Options :

1. % W%(Legal bench)

2. % &l tﬂ—or(Regional bench)

3. ¢ FayTe tie

4. % e Ul

Question Number : 79 Question Id : 7532297158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Article of the Constitution of India deals with the procedure of impeachment of the President?
Options :

1. # Article 55

2. % Article 61

3. % Article 68

4. % Article 73

Question Number : 79 Question Id : 7532297158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & HAYTH BT DI A1 3fede AYUld b faeeg HRIHaT o1 ufshar J Feifdid &
Options :

1. % 3G 55

2. ¢ 3G 61

3. % TG 68

4. % 3G 73

Question Number : 80 Question Id : 7532297159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following planets does not have any moon?



Options :

1. # Saturn
2. % Jupiter
3. ¥ Venus

4. * Uranus

Question Number : 80 Question Id : 7532297159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 7 O f5T Ug &1 ois IgHISTIE Tl 82

Options :
1. % H
2. % gguwfd
3. ¥ Rch
4, % 3130

Arithmetic Abilityl
Group Number : 5
Group Id : 753229369
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Abilityl
Section 1d : 753229369



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229444
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 7532297160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If0.137—-03%x001—-3x 0005+ 135+-1.5=x+(1.143 — 0.174), then what is the value of x ?
Options :
1. % 0.5

2« 0.05
3 % 0.1

4 % 0.0l

Question Number : 81 Question Id : 7532297160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfd 0.137— 0.3 x 0.01 —3 X 0.005 + 1.35+ 1.5 = x + (1.143 — 0.174) &, Al x HTHM T DIIT|
Options :
1. % 0.5



7 o 0.05
3 % 0.1

4 % 0.01

Question Number : 82 Question Id : 7532297161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The value of (0.75+ 0.226) x

509 (0.57)% +9(0.15)* .
1.7  (0.28)% +4(p.15)

Options :

| % 525

Question Number : 82 Question Id : 7532297161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(0.75+0.226) x

8 (0.57)%+9(p.15)* & 9 31 W l

5:
1.7 (p.38)24+4{p.15)2

Options :

| % 5.5

o
#
Lh
o |
h



Question Number : 83 Question Id : 7532297162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Thevakueof[l%—l— 13+41] x(11+ 1? of EJ—E+E is:
3 3 & 2 3 E 3 &

Options :
25

1. % 9

(98]
*
Bla 9GS

>
%
o [z

Question Number : 83 Question Id : 7532297162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
( 1%_4_ l§+4éj X (1§+ 1%0f§)—§+§ WWWW|
Options :

25

1. % 9



w
#
Bl wl%

>
S
o |2

Question Number : 84 Question Id : 7532297163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Shubham spends one-fifth of his income on rent. one-sixth of the remaining on groceries and three-fifth of the still

remaining on education of his children. What fraction of his original income is left with him?
Options :
4

1. % 15

| =

Ll | e

b
#
Ok

Question Number : 84 Question Id : 7532297163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



YA HGT 3T BT 1/5 HFT THRIT IR, Y BT 1/6 YT {0 & FHF TR, 3R A BT 3/5 HRT G =l i 16T IR
3 AN & | SHB! e {1 1 [ HFT I Uiy Y &l 82

Options :
4

1.V 15

0| e | e

O | ba

Question Number : 85 Question Id : 7532297164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The HCF of 2077, 3015 and 3551 is x. What is the value of x;: 2
X+
Options :
28
1. ® 37

29
2. 38

o=

3. %

11



Question Number : 85 Question Id : 7532297164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2077, 3015 AR 3551 BT HETH YHUGAD (HCF) x &l 9‘5 &1 HH J1d BT

Options :
28
1. % 37

29
2. 38

o=

11

Question Number : 86 Question Id : 7532297165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The LCM of two numbers is 15 times their HCF, and the sum of the LCM and HCF of the two numbers is 384. If the
difference between the numbers 48, then the sum of the numbers is;

Options :

| % 156

-~

2. W 192

3 % 216



Question Number : 86 Question Id : 7532297165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sl G&rel &1 AT HYaE (LCM), 39 Head JHMUadS (HCF) & 15 71 & SRIR g, 3R 3% a9
FHYAE (LCM) 2R HeoH GHUAdS (HCF) BT 91T 384 | Afc TBarall &1 iR 48 ©, ol Y3l &l 9R1 J1d
SIS

Options :

| % 156

5 o 192

Question Number : 87 Question Id : 7532297166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the 9-digit number 6304 x 94 y 8 is divisible by 44, then what is the value of (3 x — y), for the maximum value of y ?
Options :

1 ® &

2. % 9

3.¢ 10



4 % 12

Question Number : 87 Question Id : 7532297166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tie 9 ADIT TV 6304 x 94 y 8, 44 YIAHIE B, Wl y & A&hadd O &b 61U (3 x — ) B HH JTd DIE|

Options :
1 #® &

2. % 9
3.¢ 10

4. % 12

Question Number : 88 Question Id : 7532297167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the 5-digit number 898ab is divisible by 11 and 21, then what is the value of (5a ~ 25)?
Options :

1 % 28



Question Number : 88 Question Id : 7532297167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfe 5 3BT W 898ab. 11 2R 21 ¥ [GHNT B, T (5a+25) BT HF F1d HIfolT|

Options :

1 ® 28

Question Number : 89 Question Id : 7532297168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If9%x 1512 of 10—[16x2+x—(17—12)%x 2] =4 X9 = 32— 2, then what is the value of x ?

Options :
7

1. % 8

) w 4

L m@

bt

Question Number : 89 Question Id : 7532297168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

E9x15+12 of 10— [16X2+x—(17—12)x 2] =4 X9 = 32— 2 B. <l x DI A Jd SO |
Options :
¥

1. % 8

) % 4

wo| @

bt

Question Number : 90 Question Id : 7532297169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price per litre of cooking oil increases by 28%. By what percentage should its consumption be reduced such that the
expenditure on it increases by 12% only?

Options :

L% 10.5%

4. % 16%

Question Number : 90 Question Id : 7532297169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

GHI U & dal & Ui e el H 28% o1 g Bidl 81 38D SUHRT H fdha- fawrd o st &l ol 9ifey, difds
3 WX g dTel o H ohad 12% DI i Bl

Options :

| % 105

7 o 12.5
3 % 15
4 % 16

Question Number : 91 Question Id : 7532297170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average age of X, Y and Z, 3 years ago, was 23 vears. The average age of X and Z, 4 years ago, was 23.5 years.
What will be the age (in vears) of Y- 6 vears from now?

Options :

1 ® 26

4.¢ 29

Question Number : 91 Question Id : 7532297170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

399 edl, X, Y 3R Z I H19d 31g 23 98 &i| 4 99 Ugd, X 3R Z B A1Gd 1g 23.5 98 i1 39 Y 6 98 916, Y Bl
g (@ H) faHi it

Options :
1. #® 26

, % 275

4. ¢ 29

Question Number : 92 Question Id : 7532297171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average of 23 numbers is 55. The average of the first 12 numbers is 60.5 and the next 6 numbers is 58. If the

average of the last 6 numbers is 50, then what is the 18™ number from the beginning?
Options :
L% 102
> % 103

3 109

4 % 113

Question Number : 92 Question Id : 7532297171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

23 G313 55 & | Tgd! 12 SBarel &1 A19d 60.5 € 3R 3RTAT 6 TBai &1 219d 58 31 4f¢ 3ifdH 6
el &1 e 50 8, dl SRH Y 187 G S dl 2

Options :
1 ® 102

5 % 103
3 109

4 % 113

Question Number : 93 Question Id : 7532297172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average score of a batsman for a certain number of innings is 44.5. In the next six innings, he scored 20, 0, 10, 50,

12 and 19, and his average for all the innings reduced by 6. The number of innings. in all, that he played is:
Options :
1. # 18

& 22

3 24

Question Number : 93 Question Id : 7532297172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

qTigl &1 U g T & U U dociars &l 2190 TR 44.5 5| SFT01 ©8 9IRal 7, 39 20, 0. 10, 50, 12 3R
19 I 41U 3R Gl UIiE| & [0 39H1 19d Ya &1 gaT H 6 HH 81 T 1, 3 gRI el 715 9! aikal &1
S YT J1d Doy |

Options :
1. # 18

Question Number : 94 Question Id : 7532297173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Asumof 11.725 is divided between A, B and C such that the ratio of the sharesofAand Bis 5: 8 and thatof C and B
is 3 ; 2. What is the difference (in ) between the shares of A and C?

Options :
| % 1,876
R4 3.283

4 % 4690



Question Number : 94 Question Id : 7532297173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
311725 | §RIR BT A, B AR ¢ P §d 58 UbR fAUTOTd [ Sirar 8 fb A iR B & 80l &1 o uld 5:8 8 AR ¢
3R B & fe<l &1 3FUId 3:2 81 A 3R ¢ & Tl &1 3R (z H) F1d P

Options :
1. ® 1876

5 & 3283
3 % 3752

4 % 4690

Question Number : 95 Question Id : 7532297174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A trader buys two types A and B of sugar, A at the rate of 239 per kg and B at 255 per kg. In what ratio should he mix A
and B to get a profit of 8% by selling the mixture at Z48.60 per kg?
Options :
1% 3

]

) #® 4:3

LN
[ &%

3.¢



Question Number : 95 Question Id : 7532297174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U AR g fhwf A 2R B & I Wiiedr g, APl 230 Ufd ke &1 S Y 3R B Bl 255 Ufd ke P R A WA B
3Y A 3R B @I [ g1 ¥ e A1fgT, A1 801 1 248.60 UM ke B & T 997 TR 3 8% HI ATH U 812

Options :

I

1% 3:

Question Number : 96 Question Id : 7532297175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A washing machine is sold for 224,600 at a loss of 18%. What would have been the profit/loss percentage if it had been
sold for 232.000?
Options :

i G
Loss, 3-%
1. W 3

Profit, 6 £ %
2. 3

i G
Loss. 6=%
3. W 4



Profit, 3 é 0%

Question Number : 96 Question Id : 7532297175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Uh IS H=H B 18% DI 811+ G2 224600 H 991 O &1 T 232000 H &+ U gH a1 WO=Id ar-/aiki=id g1+
T B

Options :

gl 3204
1. s 3

Ay 620
2.¢ 3

Question Number : 97 Question Id : 7532297176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sumita bought two articles for a total of 650. She sold one at a 20% profit and the other at a 25% loss. If the selling
price of both articles is the same, then the cost price of the article that was sold at a 20% profit is:
Options :
L% 2240

) %250



3 % 3260

4 % %280

Question Number : 97 Question Id : 7532297176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GirT A & 2650 H &l TIL GRAET | 3 Ul 20% MM TR AR G Bl 25% I WR o=1| Ife aH| axgefl &
faerT e THM €, dl 200 ATH UR &1 715 9% &1 $HY Jed J1d DI

Options :

1 ® 2240

) & 3250
3 % 2260

4 % 2280

Question Number : 98 Question Id : 7532297177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The selling price of 16 oranges is equal to the cost price of x oranges. If the loss percentage is 37 % % . then what is the

value of x ?
Options :
1. % 8

2.% 9



3.¢ 10

4 % 12

Question Number : 98 Question Id : 7532297177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
16 YeRT 1 faghd e, x RN o g I o SRR & | TfE Wir=rd &1 37205 ©, T xc 1 0 I Hifor|

Options :

. % 8
2.% 9
3« 10

4 % 12

Question Number : 99 Question Id : 7532297178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sold an article to B at a 25% profit and B sold it to C at a 35% profit. If B's profit was 290 more than A’s profit, then

what was the cost price of the article for A?
Options :
|« 480

5 % %500



3 % 540

4 % %560

Question Number : 99 Question Id : 7532297178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TS G B Bl 25% AH W gl AR B = 3 35% AH W ¢ $I 99 (G411 31 B Sl U @14, A DI U @ 9
290 A1 YT, Il A & oY 9% oI hd g 31d DIl |

Options :
1« 2480

5 % %500
3 % 3540

4 % %560

Question Number : 100 Question Id : 7532297179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Anil sold 60% of his goods at a profit of 30% and 40% of the remaining goods at a loss of 40%. To get a 20% profit in

the entire transaction, he must sell the remaining goods at a profit of:
Options :

L% 25%

7 # 30%



Question Number : 100 Question Id : 7532297179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HITE = U HI BT 60% (ST, 30% P TATH TR R Y BT 40% ST, 40% 1 1 R o471 9 Y YHGeR H
209 T TTH U - o 1018, I Y HIeT bl T TTH TR ST g

Options :
1 ® 25%
> # 30%
3.« 353%
4 % 40%

Arithmetic Ability2
Group Number : 6
Group Id : 753229370
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Arithmetic Ability2

Section Id : 753229370
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229445
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532297180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A trader sells an article for 2597.60 after giving a discount of 17% on its marked price. Had he not offered anv discount,
he would have earned a profit of 44%. What is the cost price (in ) of the article?

Options :

| % 480

Question Number : 101 Question Id : 7532297180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Ueh AR Ueh a%g Bl 3G 3ffehd Geg T 17% DI BE GPR 2597.60 T &9l ¢ | TG 3T By B¢ -Tal &l grdl. dl
T 449 DT TH BIdT| T¥ D1 hY 7 (2 H) T BIToT |

Options :
1 % 480

5 & 500

3 % 520

Question Number : 102 Question Id : 7532297181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C started a business by investing capitals in the ratio of 5 : 7 : 6. After 4 months, C withdrew 332% and A
added 20% of his capital. At the end of the year. out of the total profit of 31.2 lakhs. what is the share (in lakh %) of B?
Options :

1 % 84

5 % 102
3 @ 12,6

4 % 138

Question Number : 102 Question Id : 7532297181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A BAIRCHS:7: 6P U H Yoil AR $eh U HaYg U= [BT1| 4 HelH & 918, ¢ = 3329 [ [
AR AT T U5 & 200 & WER AR PR B T & SAH 2312 TS SO A H Y B F fewdl c @ H)
A DI

Options :
1. # 8.4

» % 102
3 @ 126

4 % 13.8

Question Number : 103 Question Id : 7532297182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The amount received by investing a certain sum for 4 yvears at a certain rate percentage p.a. of simple interest is 16,956,

' 1 " . , .
and the amount received on the same sum for 65 vears at the same rate of simple interest is T19.116. The rate of interest
is:
Options :
1. ® 0%

) & 6.4%



Question Number : 103 Question Id : 7532297182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U (T Y=RIRT &I GIHRU 1ol &1 U [HiEd U= &3 IR 4 9y & 67U (o= &3 O UTa fH8eH 216956 € 3R
ST FRIIRT IR T FURO 6 b R R 62 oy o o7 fH%eE 219116 €1 SIS &2 1A DI |

Options :
1 ®% 6%

)« 0.4%
3 #% 0.5%
4. % 1%

Question Number : 104 Question Id : 7532297183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Renu invested a sum of 8,000 for 2% vears at 210% p.a., interest compounded vearly. The amount (in 3) she will get

on maturity (nearest to a rupee) is;
Options :

| 10,067

) ® 10,123

3 % 10,145

4 % 10,164



Question Number : 104 Question Id : 7532297183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0] 28000 BT YR 10% TP Thgfs AT B TR W 22 IV & forg o= 1 aRuewd W IH i g aren
ff%ye (2 ) fbar g (Reear 2 )

Options :
1.« 10067

5 % 10123
3 % 10145

4 % 10164

Question Number : 105 Question Id : 7532297184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A certain sum amounts to ¥19,698.80 at 15% p.a. in 2 years, interest compounded 8-monthly. The sum is:
Options :

| % 13,600

5 % 14,500

3« 214,800

4 % 15,000



Question Number : 105 Question Id : 7532297184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh T $FRIRT 159 It 419 & G U 2 Y H 9¢h3 219698.80 Bl I &, 9g! 8419l & U 8-HIRI%
Fehgfek IR TR 1 Wil 8 | 4RI 1 BTy

Options :
1. % 213600

, % 14500
3 v 14800

4 % Z15000

Question Number : 106 Question Id : 7532297185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B can complete a work in 20 days and 30 days, respectively. B alone completed %th part of the work, then A
joined him and both worked till the remaining work was completed. In how many days was the entire work completed?
Options :

1 ® 19

172



Question Number : 106 Question Id : 7532297185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B U% F1Ed Sl o1 HHRE 20 1877 1R 30 T 5 qUl R Hobdl § | B 3fdhdl 39 614 1 2 HIT Y01 dl 5, fh
ATYS 1Y B & WA 1 o1 & SR ST AW b o gUi 8 b B ad & | IR B fdha o | gl gof

Options :

1. ® if—)ﬁ_"[
I?i;ﬁ_ri

2. 8

3 % igﬁ_"[
192 feq
o 3

4. %

Question Number : 107 Question Id : 7532297186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For doing a certain work, A is 60% more efficient than B and C is 20% less efficient than B. If B alone can complete the
work in 20 days, then A, B and C together will complete what fraction of the same work in 4 days?
Options :
E
1. % 20

i
=]

(]
L

2.¢



(98]
#
w | w

|

Question Number : 107 Question Id : 7532297186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh (iEd S B B H, A, B 60% HUH PG 5 AR €, B Y 20% HH GG §1 TG B el 39 B
120 fGAH W B THAT 8. Tl A, B 2R ¢ T Y faa 4 RA AU S & fobaq R I R aifle

Options :
17
1. % 20

jun
|

[ ]
L

2.¢

(U8
#
|

| w

Question Number : 108 Question Id : 7532297187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A boat travels 36 km upstream in § hours and 30 km downstream in 5 hours. How much time (in hours) will it take to

travel 70 km in still water?
Options :



Question Number : 108 Question Id : 7532297187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh A11d YRT ! (GO (G- H 36 km 1 G31 8 9 H 00 Hll @ AR YRT D! [GRTH 30 km B1 G2 5 9 H ag Hd!
&1 39 X1 o/ | 70 km BI G31 09 D H foha1 T8 (4 H) T

Options :

l.pw 10

17

2. %

3 b
3¢ 8

4 % 14

Question Number : 109 Question Id : 7532297188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The cost of tiling the floor of a rectangular room is 39,672 at the rate of 393 per m?. The length of the room is 6 m less

than the side of a squared plot whose area is 361 m?. What is the perimeter (in m) of the floor of the room?
Options :
1. % 18

) # 20
3.« 42

4. % 44

Question Number : 109 Question Id : 7532297188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

293 Yld m? &1 &R 4 U ATIAIHR HHY & B UR IS T &l AR 29672 81 39 BH &l dals, Uh dbR
S B Yol ¥ 6 m BH o, [OrIehT &% 361 m? 81 HH & B B YRAN (m H) (B 87

Options :
1. # 18

2. ® 20

3.« 42

4 % 44

Question Number : 110 Question Id : 7532297189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The circumference of a circular playground is 462 m. It is surrounded by a 3.5-m-wide path. The area of the path (in
m? ) is:

(Take & =% )

Options :
1.« 1655.5

5 % 1661
3 % 1663.2

4 % 1672

Question Number : 110 Question Id : 7532297189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U IR W & HaH &1 IR 462 m 81 T8 TP 3.5 m A1 I 3 FoRT §311 8 | IRl 1 &5 (m? H) J1d
S| (=22 AF )

b

Options :
1.« 1655.5

5 % 1661
3 % 1663.2

4 % 1672



Question Number : 111 Question Id : 7532297190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sides of a triangular park are 140 m, 147 m and 203 m. Its area is equal to the area of a rectangular field whose

sides are in the ratio of 21 : 10. What is the perimeter (in m) of the rectangular field?
Options :
1. % 372

5 o 434
3 % 496

4 ® 620

Question Number : 111 Question Id : 7532297190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U FAYSHR U B YOI 140 m, 147 m 3R 203 m &1 SHDI &6 U AAAHR Gd & &AHd & a6 g,
forgas! Y3l T SFUId 21 : 10 8| 3T HATHR W &1 URAY (m H) fa=r g2

Options :

| % 372

5 & 434
3 % 496

4 % 620



Question Number : 112 Question Id : 7532297191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The length of a rectangular field is two times its breadth. There is a square-shaped garden with side 10 m., inside the
rectangular field. If the area of the field is 8 times the area of the garden, then the cost of fencing the rectangular field at
748 per m is:
Options :

| % 75,568

5 % 5,664
3 v 5760

4 = I5.856

Question Number : 112 Question Id : 7532297191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U HGAIDHR Wd & el IUD! AISTs & GRIF & SRR & | STIAIBR Td & HER 10 m Yol a1 U FHR
3 & | Ul Wd D1 &A%, I & &5 & 8 - & aR06R 6, Al 248 Uid m &1 &R Y AGADHR W DI 918 A
B A1 1 DI

Options :
1. % Z35568




Question Number : 113 Question Id : 7532297192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solid metallic sphere of radius 3 cm is melted and recast into a solid cone of height 6 cm. What is the area (in cm?) of

the base of the cone?
Options :
1. % 97

2w I18x
3 & 27w

4. % Jom

Question Number : 113 Question Id : 7532297192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 cm TSN 9101 U 319 Y1d & T &1 [YEAIHR 6 cm STy 910 Ueb 319 X & &4 U Ial ldl g | P o ATUR
&1 &FHT (cm? H) I BT

Options :
1. % 9T

2. 18
3% 27m

4 % 36T



Question Number : 114 Question Id : 7532297193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A cone of height 14 cm and base radius 6 cm is carved out from a rectangular block of wood of dimensions 15 cm x 14

cm ¥ 13 em. The percentage of wood left is (correct to one decimal place):
(Take m= 2?—2 )

Options :

1. ® 75.8%

) #® 78.6%

3 « 80.7%

4 % 81.2%

Question Number : 114 Question Id : 7532297193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 cm % 14 em = 13 em [3AT 9101 Q‘1¢Eﬁ E Udh Yl {Ldah 14 Cm'ﬁﬁfaﬂqﬁ cm Wﬁ@aﬂ%m@'—
HIca FebTa a1 8| 591 g5 abe! Pl HIdRId (T GRHTG RIM b QUi d) Jd DI (=22 AF )

7

Options :
1. % 758

) % 78.6



3 o 80.7

4 % 812

Question Number : 115 Question Id : 7532297194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sales of two types of cars by three dealers, A, B and C. in different months.

Dealers—= A B C
Typel | Type2 |Typel | Type2 | Typel | Type2

Months

January 120 169 100 135 120 106
February | 140 130 122 120 124 112
March 138 126 128 118 113 130
April 125 120 124 137 128 132
May 117 125 140 150 125 120

What is the ratio of the total number of cars of type 1 sold by dealer B in February and March to the total number of

cars of type 2 sold by dealer C in January, February and April?
Options :

]

1% 3

L]

2. ¥

o8]
b
LN
5



4. % 6:7

Question Number : 115 Question Id : 7532297194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT-HAT He A H T PRSI A, B 2R ¢ gRIBI T &l USR B BRI &1 faehi |

SIT> A B &
JHR |UPR |[UPR |UBR |[UPR | UHR

e 1 2 1 2 L 2
ol 120 169 [0 135 [120 | 106
Byl 140 [130 [122 (120 |14 |12
A 138|126 [128 |18 |13 | 130
U 125|120 [124 |137 |18 |13
5 117|125 |10 |1s0 [125 | 120

HRad] AR Ord H SIR B GRI 841 Ty UHR | Bl BRI 6l ol S, 3R SiHaR], BRa<] 3R 2Ue ¥ SIeR ¢ R
41 718 UbR 2 1 DRI DI ol T BT SUTd I DI |

Options :

I

1% 3:

N

2.9



Question Number : 116 Question Id : 7532297195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sales of two types of cars by three dealers, A, B and C, in different months.

Dealers—=> A B C
Typel | Type2 |Typel |Typel | Typel | Type2

Months

January 120 169 100 135 120 106
February | 140 130 122 120 124 112
March 138 126 128 118 113 130
April 125 120 124 137 128 132
May 117 125 140 150 125 120

The average number of cars of tvpe 2 sold by dealer A in January to May 1s what percent more than the number of cars
of type 1 sold by dealer C in May?

Options :

1. ® 6.7%



Question Number : 116 Question Id : 7532297195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT-HAT He A H T PRSI A, B 2R ¢ gRIBI T &l USR B BRI &1 faehi |

SR> A B C
UHR |UBR |UHR |UER |HBER | UHR
1 2 1 2 1 2
120 |169 |00 135 120 |106
122 120 |124 |112
138|126 |128 |us |1z |130
125 |[120 |124 |137 128 |132
117|125 |0 |1so |125 | 120

2 EEEEE

SR W Ay &I a8 H STk A GRI a1 75, UPR 2 B SR Bl 21d T8, 75 H S0 ¢ GRS s UHR 1 Dl
HRI B1 T I fopae ufawd oifds &2

Options :

1. % 6.7%

Question Number : 117 Question Id : 7532297196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Study the given graph and answer the question that follows.

Imports and exports of a country in the years 2015 to 2020 (in crore %)
350

B Imports

B Exports

300

250 -+

200 +

150 +

{incrore % --—-x)

100 +

50

2015 2016 2017 2018 20158 2020

Year —-->

The ratio of the total imports of the country in 2018 and 2020 to the total exports in 2016 and 2019 is:
Options :

1% 3:2

> ® 6:5

3¢ 4.3



4. % 9:8

Question Number : 117 Question Id : 7532297196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5 ATt ST 3eg Y AR UY BT IR o

a¥ 2015 ¥ 2020 ¥ gh= et & 1 e 3k Pola s &)
350 =
. B o 300
350 - 250
M
I 200
(3
E' 150
o
100
50
ﬂ -
2015 2016 2017 2018 2019 2020
EL] >
2018 3R 2020 H G & {RATd 3R 2016 AR 2019 H Ha (141d &1 27u1d fdoa1 82
Options :
1. ® 3:2

» ® 6:5



3.¢ 4.3

4. % 9:8

Question Number : 118 Question Id : 7532297197 Question Type : MCQ Option Shuffling

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Study the given graph and answer the question that follows.

: Yes Is Question Mandatory : No Option

350

Imports and exports of a country in the years 2015 to 2020 (in crore )

300

H Imporis

W Exporis

250 -

[
=]
=]

150

(incrore ¥ —-—--=)

100

50

2015 2016 2017 2018 2018 2020

Year

>

In how many years were the imports of the country more than the average exports during the given 6 years?

Options :



Question Number : 118 Question Id : 7532297197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fuifesd UTE &1 2egd B AR Y HT I <

F¥ 2015 & 2020 ¥ o= et &u 1 amgma s Pefa o &)

350
" s
R - 300
300
S 250

100
50 -
u -
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Options :

| % 2

Question Number : 119 Question Id : 7532297198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Study the given graph and answer the question that follows.

Imports and exports of @ country in the years 2015 to 2020 (in crore %)
350

N imports

H Exporis

300

250 +

=)

200 -

150 -

{in crore

100 +

50 A

2015 2016 2017 2018 2019 2020

Year —-->

The total exports of the country in 2016 and 2017 was what percentage less than the total imports in 2015 and 20197
Options :

1.« 20%
) ® 22.7%

3 % 25%

4 % 18.2%



Question Number : 119 Question Id : 7532297198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.« 20%

) ® 22.7%

4 % 18.2%



Question Number : 120 Question Id : 7532297199 Question Type : MCQ Option Shuffling

Orientation

: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the given graph and answer the question that follows.

: Yes Is Question Mandatory : No Option

350

Imports and exports of @ country in the years 2015 to 2020 (in crore %)

300

N imports

H Exporis

250 +

=)

200 -

150 -

{in crore

100 +

50 A

2015 2016 2017 2018 2019 2020

Year —-->

In 2021, if the exports of the country increases over 2020 by the same percentage as it increased in 2019 over the year

2018, then what will be the country’s exports (in crore X) in 2021 (correct to one decimal place)?

Options :
1. ® 363.2



5 % 3404
3 % 336.6

4 @ 3333

Question Number : 120 Question Id : 7532297199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1 % 363.2
h # 340.4
3 #® 336.6
4.« 3333
General English1
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Sub-Section Number : 1
Sub-Section Id : 753229446
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7532297200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Mind your business.
Options :

1. # self

2. ¥ own

3. % all

4. # each

Question Number : 121 Question Id : 7532297200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Mind your business.
Options :

1. % self

2. % own

3. % all

4. % each

Question Number : 122 Question Id : 7532297201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

did you lend your car to?



Options :
1. ¥ What
2. # Which
3. % Whom
4. ¥ Whose

Question Number : 122 Question Id : 7532297201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

did you lend your car to?
Options :
1. ¥ What
2. % Which
3. % Whom
4. ¥ Whose

Question Number : 123 Question Id : 7532297202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Please your hands if you agree.
Options :

1. # rise

2. ¥ raise

3. # rising

4. ® raising

Question Number : 123 Question Id : 7532297202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to fill in the blank.

Please your hands if you agree.
Options :

1. # rise

2. ¥ raise

3. # rising

4. # raising

Question Number : 124 Question Id : 7532297203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

, | have nothing to do with the case.
Options :
1. ¥ Frankly
2. # Specially
3. ¥ Promptly
4. ¥ Recently

Question Number : 124 Question Id : 7532297203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

, | have nothing to do with the case.
Options :
1. ¥ Frankly
2. # Specially
3. % Promptly
4. # Recently



Question Number : 125 Question Id : 7532297204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

This house has not been painted years.
Options :

1. # from

2. ¥ for

3. % since

4. * during

Question Number : 125 Question Id : 7532297204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

This house has not been painted years.
Options :

1. * from

2. ¥ for

3. * since

4. * during

Question Number : 126 Question Id : 7532297205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

If you your car here, it might be towed away.
Options :

1. ¥ park

2. % parks



3. % are parking
4. # have been parking

Question Number : 126 Question Id : 7532297205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

If you your car here, it might be towed away.
Options :

1. ¥ park

2. % parks

3. * are parking

4. # have been parking

Question Number : 127 Question Id : 7532297206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

We any information as yet.
Options :

1. # did not receive

2. ¥ have not received

3. #* had not received

4. # are not receiving

Question Number : 127 Question Id : 7532297206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

We any information as yet.



Options :

1. # did not receive
2. ¥ have not received
3. % had not received

4. ® are not receiving

Question Number : 128 Question Id : 7532297207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I the mess before anyone sees it.
Options :

1. % clean

2. % cleaned

3. % will clean

4. # was cleaning

Question Number : 128 Question Id : 7532297207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I the mess before anyone sees it.
Options :

1. # clean

2. % cleaned

3. ¥ will clean

4. % was cleaning

Question Number : 129 Question Id : 7532297208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate article to fill in the blank.

best suggestion came from a ten- year old.
Options :
1. % A
2. % An
3. ¥ The
4. # No article required

Question Number : 129 Question Id : 7532297208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate article to fill in the blank.

best suggestion came from a ten- year old.
Options :
1. % A
2. % An
3. ¥ The

4. % No article required

Question Number : 130 Question Id : 7532297209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate article to fill in the blank.

This is going to be amazing experience!
Options :

1. % a

2. % an

3. % the

4. # No article required



Question Number : 130 Question Id : 7532297209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate article to fill in the blank.

This is going to be amazing experience!
Options :

1. % a

2. % an

3. # the

4. ¥ No article required

Question Number : 131 Question Id : 7532297210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that expresses the given sentence in active voice.

Who was his name proposed by?
Options :

1. ¥ Who proposed his name?

2. % Who has proposed his name?
3. % Who will propose his name?

4. ¥ Who was proposing his name?

Question Number : 131 Question Id : 7532297210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that expresses the given sentence in active voice.

Who was his name proposed by?
Options :

1. ¥ Who proposed his name?

2. % Who has proposed his name?



3. ®¥ Who will propose his name?
4. # Who was proposing his name?

Question Number : 132 Question Id : 7532297211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that expresses the given sentence in passive voice.

Tell him to leave at once.

Options :

1. # He is being told to leave at once.

2. % He has been told to leave at once.
3. % Let him being told to leave at once.
4. ¥ Let him be told to leave at once.

Question Number : 132 Question Id : 7532297211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that expresses the given sentence in passive voice.

Tell him to leave at once.

Options :

1. ® He is being told to leave at once.

2. % He has been told to leave at once.
3. # Let him being told to leave at once.
4. ¥ Let him be told to leave at once.

Question Number : 133 Question Id : 7532297212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Prince Siddharth in search of enlightenment.



Options :

1. # seton
2. # setup
3. % set out

4. % get aside

Question Number : 133 Question Id : 7532297212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Prince Siddharth in search of enlightenment.
Options :

1. % seton

2. % setup

3. ¥ set out

4. % get aside

Question Number : 134 Question Id : 7532297213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The manager his point very convincingly.
Options :

1. ¥ put across

2. % put out

3. # put off

4. % put on

Question Number : 134 Question Id : 7532297213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to fill in the blank.

The manager his point very convincingly.
Options :

1. ¥ put across

2. % put out

3. #* put off

4. % put on

Question Number : 135 Question Id : 7532297214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly punctuated sentence.
Options :

1. # Is this new book her’s?

2. ¥ Is this new book hers?

3. # Is this new book hers’?

4. % Ts this new book hers!

Question Number : 135 Question Id : 7532297214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly punctuated sentence.
Options :

1. # Is this new book her’s?

2. % Is this new book hers?

3. % Is this new book hers’?

4. % Ts this new book hers!

Question Number : 136 Question Id : 7532297215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the correctly punctuated sentence.
Options :

1. # “I wish I had lot’s of money,” said Mini.
2. ¥ “I wish I had lots of money,” said Mini.
3. % [ wish I had lot’s of money, said Mini.

4. ® “I wish I had lots of money.” said mini.

Question Number : 136 Question Id : 7532297215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly punctuated sentence.
Options :

1. #® “I wish I had lot’s of money,” said Mini.
2. % “I wish I had lots of money,” said Mini.
3. # T wish I had lot’s of money, said Mini.

4. % “I wish I had lots of money.” said mini.

Question Number : 137 Question Id : 7532297216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that expresses the given sentence in direct speech.

Pankaj asked me if I would have some juice.

Options :

1. ® Pankaj said to me, “Do you have some juice?”

2. % Pankaj said to me, “Did you have some juice?”
3. % Pankaj said to me, “Are you having some juice?”

4. ¢ Pankaj said to me, “Will you have some juice?”

Question Number : 137 Question Id : 7532297216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that expresses the given sentence in direct speech.

Pankaj asked me if I would have some juice.

Options :

1. # Pankaj said to me, “Do you have some juice?”

2. # Pankaj said to me, “Did you have some juice?”
3. ® Pankaj said to me, “Are you having some juice?”

4. ¥ Pankaj said to me, “Will you have some juice?”

Question Number : 138 Question Id : 7532297217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that expresses the given sentence in indirect speech.

“Don’t ask any questions now,” said mother to Mona.
Options :

1. # Mother told Mona not to ask any questions now.

2. % Mother told Mona don’t ask any questions now.

3. ¥ Mother told Mona not to ask any questions then.

4. % Mother told Mona that don’t ask any questions then.

Question Number : 138 Question Id : 7532297217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that expresses the given sentence in indirect speech.

“Don’t ask any questions now,” said mother to Mona.
Options :

1. ® Mother told Mona not to ask any questions now.

2. % Mother told Mona don’t ask any questions now.

3. ¥ Mother told Mona not to ask any questions then.

4. ® Mother told Mona that don’t ask any questions then.



Question Number : 139 Question Id : 7532297218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate collocation.

The couple was a baby girl.
Options :

1. # blessed for

2. # blessed to

3. ¥ blessed with

4. % blessed from

Question Number : 139 Question Id : 7532297218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate collocation.

The couple was a baby girl.
Options :

1. # blessed for

2. % blessed to

3. % blessed with

4. # blessed from

Question Number : 140 Question Id : 7532297219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate collocation.

He to his grandparents every Saturday.
Options :
1. # takes a visit

2. ¥ pays a visit



3. * gives a visit

4. % holds a visit

Question Number : 140 Question Id : 7532297219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate collocation.

He to his grandparents every Saturday.
Options :

1. # takes a visit

2. ¥ pays a visit

3. % gives a visit

4. # holds a visit
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 7532297220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Mirth
Options :
1. * Woe
2. % Work
3. % Joy

4. *# Pain

Question Number : 141 Question Id : 7532297220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Mirth
Options :
1. * Woe
2. % Work
3.9 Joy

4. % Pain



Question Number : 142 Question Id : 7532297221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Conceit
Options :

1. # Humility
2. % Timidity
3. # Anxiety
4. ¥ Pomposity

Question Number : 142 Question Id : 7532297221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Conceit
Options :

1. % Humility
2. ® Timidity
3. % Anxiety
4. ¥ Pomposity

Question Number : 143 Question Id : 7532297222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate ANTONYM of the given word.

Jeer
Options :
1. # Taunt
2. % Mock



3. % Praise
4. % Jest

Question Number : 143 Question Id : 7532297222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate ANTONYM of the given word.

Jeer
Options :
1. # Taunt
2. % Mock
3. ¥ Praise
4. % Jest

Question Number : 144 Question Id : 7532297223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate ANTONYM of the given word.

Brisk
Options :

1. #® Quick
2. ¥ Idle
3. ® Lively
4. % Agile

Question Number : 144 Question Id : 7532297223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate ANTONYM of the given word.

Brisk



Options :
1. # Quick
2. ¥ Idle
3. % Lively
4. #® Agile

Question Number : 145 Question Id : 7532297224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

For good

Options :

1. ¥ Forever

2. % On the whole
3. ¥ Gradually

4. # Self-interest

Question Number : 145 Question Id : 7532297224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

For good

Options :

1. ¥ Forever

2. % On the whole
3. # Gradually

4. % Self-interest

Question Number : 146 Question Id : 7532297225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given proverb.

Still waters run deep

Options :

1. # People who pretend to be friends

2. # People who are shy cannot succeed
3. % People who are quiet are usually wise

4. ® People who are lazy enjoy life

Question Number : 146 Question Id : 7532297225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

Still waters run deep

Options :

1. ¥ People who pretend to be friends

2. % People who are shy cannot succeed
3. ¥ People who are quiet are usually wise

4. ¥ People who are lazy enjoy life

Question Number : 147 Question Id : 7532297226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Make a clean sweep

Options :

1. # Lead successfully

2. ¥ Win with a large margin
3. % Overcome a difficulty

4. ® Take courage despite failure



Question Number : 147 Question Id : 7532297226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Make a clean sweep

Options :

1. # Lead successfully

2. % Win with a large margin
3. % Overcome a difficulty

4. # Take courage despite failure

Question Number : 148 Question Id : 7532297227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. # Hidden

2. % Writting

3. ¥ Swimming

4. ¥ Robbing

Question Number : 148 Question Id : 7532297227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. * Hidden

2. % Writting

3. % Swimming

4. % Robbing



Question Number : 149 Question Id : 7532297228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. # Affiliate

2. % Allusion

3. ¥ Amature

4. % Adjourn

Question Number : 149 Question Id : 7532297228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. # Affiliate

2. % Allusion

3. % Amature

4. % Adjourn

Question Number : 150 Question Id : 7532297229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # Desprate

2. ¥ Desperate

3. # Desperat

4. # Desprat

Question Number : 150 Question Id : 7532297229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # Desprate

2. ¥ Desperate

3. # Desperat

4. # Desprat

Question Number : 151 Question Id : 7532297230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the words in the correct order to make a meaningful sentence.

A best way to repeat it the mistake is not to handle.
Options :

1. ® The mistake not to repeat it is a best way to handle.
2. % To repeat not a mistake it is the way to handle best.
3. #® The way to repeat a mistake is best to not handle it.

4. ¥ The best way to handle a mistake is not to repeat it.

Question Number : 151 Question Id : 7532297230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the words in the correct order to make a meaningful sentence.

A best way to repeat it the mistake is not to handle.
Options :

1. #® The mistake not to repeat it is a best way to handle.
2. % To repeat not a mistake it is the way to handle best.
3. # The way to repeat a mistake is best to not handle it.

4. ¥ The best way to handle a mistake is not to repeat it.

Question Number : 152 Question Id : 7532297231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful and coherent
paragraph.

A. All her life, no dentist had been allowed to examine her teeth.

B. My grandmother had a paranoid distrust of dentists.

C. Even then, she stubbornly held on to the belief that there would be no dentures for her.
D. Not surprisingly, she lost her teeth, one or two at a time till there were none left.

Options :

1. ¥ BCAD
2. % DCBA
3. % BADC
4. % DACB

Question Number : 152 Question Id : 7532297231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful and coherent
paragraph.

A. All her life, no dentist had been allowed to examine her teeth.

B. My grandmother had a paranoid distrust of dentists.

C. Even then, she stubbornly held on to the belief that there would be no dentures for her.
D. Not surprisingly, she lost her teeth, one or two at a time till there were none left.

Options :

1. # BCAD
2. % DCBA
3. ¥ BADC
4. ¥ DACB

Question Number : 153 Question Id : 7532297232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.



Can we the meeting by a week?
Options :

1. # suspend

2. # waive

3. % cancel

4. ¥ postpone

Question Number : 153 Question Id : 7532297232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Can we the meeting by a week?
Options :

1. # suspend

2. # waive

3. % cancel

4. ¥ postpone

Question Number : 154 Question Id : 7532297233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

All rules and regulations are being strictly by the authorities.
Options :

1. # inaugurated

2. ¥ implemented

3. % appointed

4. % assembled

Question Number : 154 Question Id : 7532297233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

All rules and regulations are being strictly by the authorities.
Options :

1. # inaugurated

2. ¥ implemented

3. ® appointed

4. % assembled

Question Number : 155 Question Id : 7532297234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Your answers must be precise and without any details.

Options :

1. # supernatural
2. % superstitious
3. % superfluous

4. # gsupercilious

Question Number : 155 Question Id : 7532297234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Your answers must be precise and without any details.
Options :

1. # supernatural

2. # superstitious

3. % superfluous



4. # supercilious

Sub-Section Number : 2
Sub-Section Id : 753229448
Question Shuffling Allowed : Yes

Question Id : 7532297235 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the given passage and answer the questions that follow.

In six months, road users in Kathmandu, the capital of Nepal, have learned to cringe at using the car horn unnecessarily. “I feel embarrassed now
when I occasionally blow the horn,” said Rajaram Dangal, a hotel manager. “I feel like people are staring at me from all around.” Clearly, the
traffic police’s slogan of ‘Let’s be civilised, let’s not use the horn’ is working.

Making Dangal give up his instinctive action at the wheel has not been easy. Like in most old South Asian cities, horns seem a matter of life and
death in Kathmandu, with its narrow, congested, pot holed roads. Pedestrians and animals cross the roads at will. There are no traffic lights and
road dividers. And yet today, you only hear a few stray beeps on the street. Even these sound tentative and have none of the aggressive, let-me-
through tone that you find in, say, Delhi.

The induction of a no-nonsense officer to head the traffic police, a ban on horns, strict vigilance, a fine of 500 Nepalese rupees and threat of
public ignominy have brought a degree of silence on the noisy streets. Noise pollution had reached unhealthy highs in the Nepalese capital.
Sarbendra Khanal, traffic police chief, said, “It’s early days still, but I feel mindsets are changing.” Khanal was optimistic. The government’s
intent to change the street ambience was enunciated in no less than Khanal’s selection to head the traffic police soon after the announcement of
the ban. He has little traffic experience. Rather, the officer has a reputation as an “encounter specialist”.

It isn’t difficult to extrapolate Khanal’s renown as a tough cop to the willingness of the people to fall in line. Roads are dense with motorcycles
since car prices are prohibitive there. Reining in these two-wheelers was the biggest challenge for Khanal and his team. However, it isn’t all
baton and threats. There is a continuing awareness drive, which to date has included 9,400 roadside gatherings, 1,230 sessions with bus and truck
drivers and 1,680 visits to schools and colleges. The results are there to see or rather hear.

Sub questions

Question Number : 156 Question Id : 7532297236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these statements is NOT true about streets in Kathmandu?
Options :

1. # They are full of potholes.

2. % They are narrow and congested.

3. ¥ They have dividers and traffic lights.



4. # They are full of two-wheelers.

Question Number : 157 Question Id : 7532297237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The slogan of the traffic police in Nepal indicates that honking:
Options :

1. # embarrasses others

2. # diverts attention

3. % is not a civilized act

4. # is totally banned

Question Number : 158 Question Id : 7532297238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sarbendra Khanal was chosen to head the traffic police because:
Options :

1. #* he could create awareness

2. ¥ he was a tough and efficient officer

3. * he had little traffic experience

4. # he was an encounter specialist

Question Number : 159 Question Id : 7532297239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these measures was NOT adopted by Khanal to create awareness?
Options :

1. # Roadside gatherings

2. % Sessions with bus and truck drivers

3. % A fine of 500 Nepalese rupees

4. # Visits to schools and colleges

Question Number : 160 Question Id : 7532297240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Instinctive action at the wheel’ refers to:

Options :

1. #* people staring at Dangal because of poor driving skills
2. % avoiding pedestrians and animals crossing the road

3. # Dangal’s frustration and aggression on road

4. ¥ Dangal’s habit of honking frequently while driving

Question Id : 7532297235 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the given passage and answer the questions that follow.

In six months, road users in Kathmandu, the capital of Nepal, have learned to cringe at using the car horn unnecessarily. “I feel embarrassed now
when I occasionally blow the horn,” said Rajaram Dangal, a hotel manager. “I feel like people are staring at me from all around.” Clearly, the
traffic police’s slogan of ‘Let’s be civilised, let’s not use the horn’ is working.

Making Dangal give up his instinctive action at the wheel has not been easy. Like in most old South Asian cities, horns seem a matter of life and
death in Kathmandu, with its narrow, congested, pot holed roads. Pedestrians and animals cross the roads at will. There are no traffic lights and
road dividers. And yet today, you only hear a few stray beeps on the street. Even these sound tentative and have none of the aggressive, let-me-
through tone that you find in, say, Delhi.

The induction of a no-nonsense officer to head the traffic police, a ban on horns, strict vigilance, a fine of 500 Nepalese rupees and threat of
public ignominy have brought a degree of silence on the noisy streets. Noise pollution had reached unhealthy highs in the Nepalese capital.
Sarbendra Khanal, traffic police chief, said, “It’s early days still, but I feel mindsets are changing.” Khanal was optimistic. The government’s
intent to change the street ambience was enunciated in no less than Khanal’s selection to head the traffic police soon after the announcement of
the ban. He has little traffic experience. Rather, the officer has a reputation as an “encounter specialist”.

It isn’t difficult to extrapolate Khanal’s renown as a tough cop to the willingness of the people to fall in line. Roads are dense with motorcycles
since car prices are prohibitive there. Reining in these two-wheelers was the biggest challenge for Khanal and his team. However, it isn’t all
baton and threats. There is a continuing awareness drive, which to date has included 9,400 roadside gatherings, 1,230 sessions with bus and truck
drivers and 1,680 visits to schools and colleges. The results are there to see or rather hear.

Sub questions

Question Number : 156 Question Id : 7532297236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these statements is NOT true about streets in Kathmandu?



Options :

1. # They are full of potholes.

2. # They are narrow and congested.

3. ¥ They have dividers and traffic lights.
4. ® They are full of two-wheelers.

Question Number : 157 Question Id : 7532297237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The slogan of the traffic police in Nepal indicates that honking:
Options :

1. #® embarrasses others

2. % diverts attention

3. ¥ is not a civilized act

4. # is totally banned

Question Number : 158 Question Id : 7532297238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sarbendra Khanal was chosen to head the traffic police because:
Options :

1. # he could create awareness

2. ¥ he was a tough and efficient officer

3. % he had little traffic experience

4. ® he was an encounter specialist

Question Number : 159 Question Id : 7532297239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these measures was NOT adopted by Khanal to create awareness?
Options :

1. #® Roadside gatherings

2. % Sessions with bus and truck drivers



3. % A fine of 500 Nepalese rupees

4. * Visits to schools and colleges

Question Number : 160 Question Id : 7532297240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Instinctive action at the wheel refers to:

Options :

1. # people staring at Dangal because of poor driving skills
2. % avoiding pedestrians and animals crossing the road

3. % Dangal’s frustration and aggression on road

4. ¥ Dangal’s habit of honking frequently while driving
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Question Number : 161 Question Id : 7532297241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[T A 9= Bl U HYs QU - a1 § 3Wifhd RS g &1 Ve TgaH |
Options :

1. % &l HRP

2. % HHDRD

3. ¢ gUaH HRPB

4. % UIgld dPRP

Question Number : 161 Question Id : 7532297241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Al A §= B! U HUS U’ — I/ A Y@ifrd RS fg &1 A ugaH |
Options :

1. ® &dl PRD

2. % HH HRD

3. ¥ GUGH HRP

4. % HUIgld ®RP

Question Number : 162 Question Id : 7532297242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3ft 9 a1 § 1 e & ®1H-91 g fhanfaRivor g2 f3u 7Y fawent & ¥ gl

Options :



1.« 3
2. %
3. % qol
4. % g

Question Number : 162 Question Id : 7532297242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3t i 9 € 1° 9T | -1 Xeg ohanfaRiver g2 fou T fawedt & 9 gfu|
Options :

1. ¢ 3l

2. %

3. % qo

4.% g

Question Number : 163 Question Id : 7532297243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad & 9 HH-91 fawed uRamElye ARy &1 3aexu 82
Options :

1. % G B

2. % Telg¥

3. % g3 ard

4.« AN WR =Tl

Question Number : 163 Question Id : 7532297243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad & ¥ H-91 Ay yRHATEI Y fI=IY0T BT IS8T 82

Options :

1. ® A SR



2. % TEIgY
3. % g ard
4.« QX WR 91

Question Number : 164 Question Id : 7532297244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP R U TIRE 8Id & |I°- I H X@iobd 3eqg o1 UG UgaH |
Options :

1. % HeyaIyeh 3y

2. ¢ IS Y

3. % foparfa=Ivor

4. % fqETidalyD

Question Number : 164 Question Id : 7532297244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 3R T WRE 8Id & - I H ¥@ifohd 3/ &1 Ve UgaH |
Options :

1. % FeudlyD 3fouy

2. ¢ =YY 3y

3. % fopgriagym

4. ® fowrfeaiy®

Question Number : 165 Question Id : 7532297245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau 7 fasedl ® ¥ goudras 43 |
Options :

1. ® Wb

2. % fHar™




3. % qd
4. ¥

Question Number : 165 Question Id : 7532297245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fGu TTq fashedl § ¥ goudrae T3 I |
Options :

1. % WA

2. % fHar™

3. % qd

4. ¥ Y

Question Number : 166 Question Id : 7532297246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST A W37, T I8 STt 5 1°- I H X@iTobd Fa-H BT U Jarsy|
Options :

1. * YIYdHdh

2. ¢ Regars

3. % JFggaTID

4. % [Aar®

Question Number : 166 Question Id : 7532297246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It T @13, Fifeh 98 STl g 1°- ard | @ifohd Fa-H &1 A §argy|
Options :

1. ® JIYdHddh

2. ¢ fearas

3. % JygarD




4. % fASIdra®

Question Number : 167 Question Id : 7532297247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifad & @ H1-a1 ey b fhar &1 Iereru 2l 82
Options :

1. ¢ HgST WRaAT g

2. % JRRRI S daardr gl

3. % S ORI 5|

4. % GE AT

Question Number : 167 Question Id : 7532297247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & @ ®F-91 fadheq sfede a1 H1 a0 T8l 87
Options :

1. ¥ T IS WRATR

2. % RIS I g

3. % S URIAT G|

4. % GEAE &

Question Number : 168 Question Id : 7532297248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Feg 1 Ug! If-fa=ve U HH-91 g2
Options :

1. % g+ad

2. % & +d

3. Y{al+Ud

4. % Fal+Ud



Question Number : 168 Question Id : 7532297248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gag’ o get WiY-fawe T oI-91 g
Options :

1. % g+ad

2. % g +d

3. ¥ Y{al+Ud

4. % Fal+Ud

Question Number : 169 Question Id : 7532297249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS HT eI fY-fawde T H1H-91 gRT?
Options :

1% W+H

2.9 O+

3. % IR+ 3ol

4, % 39

Question Number : 169 Question Id : 7532297249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS BT g HY-[TwG U HH-I1 g1
Options :

1. % WA+

2.¥ O+ 9

3. % T+ 3N

4. % F+ ol



Question Number : 170 Question Id : 7532297250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR’ H HH-91 T9N 57

Options :

1. ¢ TG

2. % gg

3. % fg7

4. % 3foUyIHTa

Question Number : 170 Question Id : 7532297250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GHAR’ H DH-91 999 g7

Options :

1. ¥ ddey

2. % gg

3. % fgT]

4, % 3foUyIHTd

Question Number : 171 Question Id : 7532297251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIe YA 3R fgdia A1 ue firde 3 3 3ren frddt dR & faRiwur 81 € a9 98 &I=-31 IH1g g2

Options :
1. #® d42y

Question Number : 171 Question Id : 7532297251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

SIe YA 3R fgdia gl ue a3 3 3ren frddt dir & faRiwur 81 € d« 98 &I=-91 IHrT g2

Options :
1. % d42y

Question Number : 172 Question Id : 7532297252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR P 3@ IR, TR ke A 19ra v fawfd v, PRI I I & 1997 3icoR 82
Options :

1. * 3UHI

2. % JET

3. % JHH

4, ¥ ¥Uh

Question Number : 172 Question Id : 7532297252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR P a8 W, TYeR R a4 18R HU faepRid 1, R I b 11> H D37 3ebR 82
Options :

1. #® 3UHI

2. % JE

3. ¥ JHPH

4, ¥ Uh

Question Number : 173 Question Id : 7532297253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Y%’ BT qaraTdt g1 6-

Options :

1. ¥ HHd

2. % 3G

3. % YiqaH

4. ® HMFqUS

Question Number : 173 Question Id : 7532297253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HFS* BT YarIaTd! g1 o-

Options :

1. ¥ HHd

2. % 3G

3. % YiqaH

4. % HFQUS

Question Number : 174 Question Id : 7532297254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tod fad-g g |

Options :

1. #® 3Hdlgd-3{lgd

2. % 3fIgrdt-faRieh

3. ¢ 3MfUf¥d-arei=

4. % HGE-Ged

Question Number : 174 Question Id : 7532297254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Tod faea-gm g1
Options :

1. #® AHAlgd-3lgd

2. % STOrl-faRid
3. ¢ MUY d-3rediH
4. % HGE-ged

Question Number : 175 Question Id : 7532297255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafied & @ ®F-1 fadwe i &1 o 781 &2
Options :

1. % a9

2. ¥ g

3. % @i

4. % I

Question Number : 175 Question Id : 7532297255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraffed # -1 fawed T &1 o 81 82
Options :

1. % a9

2. ¥ HHg

3. % i

4. % Il

Question Number : 176 Question Id : 7532297256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faded T, S Tea-gr & T i & T1Y B-



Options :

1. % HIRM-ARR
SRR

2. % 30eT-FRIER
SUET-ZBT

3. % YIS
IYI-FER

4. ¢ AT
3rcfl-Tdt

Question Number : 176 Question Id : 7532297256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9% fqwed I, Sl Wea-g & T8 31U & 1Y &-
Options :

1. % JHRM-ARR

S{fRM-FR

2. % JUEM-FRIER

- ZST

3. % JHY-QH!

IHT-fTER

4. ¢ AT

3efl-ggt

Question Number : 177 Question Id : 7532297257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Q- FEYd-FaTie Weq &1 ot Y IH |
Options :

1. % TeR-HTS]

2. ¢ ISR

3. % g9



4, % A

Question Number : 177 Question Id : 7532297257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
- IHYA-RTD e BT Fa! 3 IH |
Options :

1. % TER-HIST

2. ¢ TSR

3. % gAE

4. % A

Question Number : 178 Question Id : 7532297258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g BT IHHRN T8 &-

Options :

1. ¥ &Y

2. % fAdba

3. % (e

4. % 1[5

Question Number : 178 Question Id : 7532297258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g BT JHHTRN T8 &-

Options :

1. ¥ Y

2. % fydhad

3. % g

4, % g



Question Number : 179 Question Id : 7532297259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BTG BT I BT BT e 3 IH |
Options :

1. % e
2. ¥ HgTgE
3. % PpaAl
4. % gddb

Question Number : 179 Question Id : 7532297259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘BTG DT IRL BT BT A 31 I |
Options :

1. % e

2. ¢ HgTgE

3. % dipdl

4. % gaAd

Question Number : 180 Question Id : 7532297260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bl & HIeR Uier> dioplfa &1 Fgt 3 g |
Options :

1. % AP GRS

2. % 3O D! AR

3. ¢ Sad few@mad T

4. % U Y IgPR guR] ATATD



Question Number : 180 Question Id : 7532297260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & iR O Arpifad o1 Tg! 3 |

Options :

1. % 3P TS

2. % 3O D] AR
3. ¢ &ad fe@rad! M

4. % U Y IgHR gOR[ ATcIh
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Question Number : 181 Question Id : 7532297261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 19 T, ST Xeq-I9 o1 31 Tel 8-
Options :

1. % Ipd H ATHRO &1 faem < et 5|

2. % Y G B UIET YHEGR PR @ 6|
3. % A HFTRYTNA I

4. ¢ EH-gRITl IR g1 Sl AT

Question Number : 181 Question Id : 7532297261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 1 A, T eg- a7 &1 G T8l B-
Options :

1. % pd H TThR0T B faegn < St B

2. % T YA DI UEM YR HR IET 7|
3. % AT HTRUMARI

4. + SIF-gRITl R 1 A1 AR

Question Number : 182 Question Id : 7532297262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TTH-Tosd BT ol I I |

Options :

1. % ol

2. ¢ [AYU-{JUAT



3. % Tra-gry
4. % JUTG-RR

Question Number : 182 Question Id : 7532297262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ToHH-ded b1 Hg! g A |
Options :

1. % 9uft-ggt

2. % XdU-HU-I
3. % G-
4. % UG-

Question Number : 183 Question Id : 7532297263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B P Tagd TU H RTT?

Options :

1. % R[Gh

2. % Q[P

3. % Hidbd

4. % Y3

Question Number : 183 Question Id : 7532297263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B BT degd = o1 2

Options :

1. % Rdh

2. % [M

3. % Gl




4. v GIR

Question Number : 184 Question Id : 7532297264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I = GV B ART YT YA BT BHIH-TT Vg &2
Options :

1. % {MHY Hd

2. % 3HA Yd

3. ¢ QUi yd

4. % 3ol yd

Question Number : 184 Question Id : 7532297264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AU BT HRT YT~ DTS BT DIH-TT VG 82
Options :

1. = gH Hd

2. % AT Hd

3. Ui d

4. % 3qui yd

Question Number : 185 Question Id : 7532297265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFraffed o @ FH-91 a1 Jfewy adum o1 JereRur R?
Options :

1. % g I BT g

2.« HR A g

3. % 9 Ug @I ¢

4. % S QBT



Question Number : 185 Question Id : 7532297265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad # @ -1 a9 T IaHM BT IS8 82
Options :

1. ® AT T IRl g

2. ¢ HR = BRI

3. % GEUG @G

4. % 9IS A E G

Question Number : 186 Question Id : 7532297266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GH WRI&N ¢ gb |~ I DT THR 15|
Options :

1. ¢ O dIe]

2. % fhy ar

3. % ggod die

4. % Hobd drdP I

Question Number : 186 Question Id : 7532297266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BY URIE ¢ gob I°— I BT UHR Fa1zU|
Options :

1. " IR I

2. % fhy ar

3. % ggod die

4. % Yobd qraeh dIR



Question Number : 187 Question Id : 7532297267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qH 31U Siidd § % I8 1°— IR BT YHR Jadrgy|
Options :

1. % fafearce

2. % Hgardd

3. ¢ S[AIddh

4. % Hhadrad

Question Number : 187 Question Id : 7532297267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qH U Sita H Il 1 - dTe BT UHR dd1su|
Options :

1. % faferaree

2. % Hegardd

3. ¢ THBIAAD

4. % Hbdadrad

Question Number : 188 Question Id : 7532297268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :

1. % 39 98 hac! TRle), S 3o [0 & ot

2. % ORYH 7 HIH & HRUT a8 URI&T T Ghd - gl G|

3. ¢ I URYH el fora SR SHifere wRien o 9w d A 81 9|
4. % ORYM 1 Hd MeT g g

Question Number : 188 Question Id : 7532297268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

1. % 39 98 hac! WRie), S 3 1 & ot

2. % GRYA T B & HRUI I8 WIET H I%hd - 81 Il |

3. ¢ 39 uRem =78t frar 3R sifere udhen & 9w d = 81 gal|
4. % gRYY BT Hd HoT BT g |

Question Number : 189 Question Id : 7532297269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HMHTId: SIg1 a1 &1 7fd 3ifqq T d o, 981 ST YA BT 2

Options :

1. ¢ Ui foRmH

3:333{%1"%@
4. % gl g

Question Number : 189 Question Id : 7532297269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JHT: Sgl arg S fd sifdA TUd @, 98l HIYENT BT gl
Options :

1. ¢ quf for/

2. % 3fcUfR™

3. % JreffaRH

4. % o g

Question Number : 190 Question Id : 7532297270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

g arr & st fbhg, WRq, aifoh Safe Sroqdt &1 TNT 81T 8, df §ab Ugd oi--91 farTH fg T Sira g2
Options :

1. % Ui forRme

2. ¢ HIRM

3. % 3feifar™

4. % G foIg

Question Number : 190 Question Id : 7532297270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS a1 & &g fohg, TR, 1T ST STl &1 TRNT BIdT g1, df §9ah Ugdl oi--91 foRTH g T Sifa 62
Options :

1. % gof for/

2. ¢ JeUfaRH

3. % 3peifarm

4. % G forg

Question Number : 191 Question Id : 7532297271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & @ ®F-41 faw e ae-faa &1 2 3 Tad 82
Options :

1. % S8R SARI G

2. % Jg YN BTG

3. v BRI ATt et et @ TS B

4. % g fR I 3|

Question Number : 191 Question Id : 7532297271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fofefea § @ oH-91 dwey are-fa=umg ot =Y 3 7Tad 82
Options :

1. % S8R SRR

2. % T IR BTG

3. ¢ B8 1Y el pel T TS B

4. % gg SR IAT B

Question Number : 192 Question Id : 7532297272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & 9 ®F-a1 fdwe g o1 e J 9l 82
Options :

1. ¢ YA Afad G &1 Iedl g |

2. % YA Afad Qg ded g |

3. % Y9 UGl Hedl gl

4. % BTN FaT YRATT GXpTd BT Hg @8

Question Number : 192 Question Id : 7532297272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafied & @ -1 fdwe - o =B J ud g2
Options :

1. ¥ U Ao G g1 gt g |

2. % TS Hfdd QM T I8d 5|

3. % 99 U8 Hodl g

4. % HTRI &I YR YHid BT H& @18 |

Question Number : 193 Question Id : 7532297273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X B W IR & 1~ Rad ®IF 4R & forg 3fad wrss g



Options :
1. ® QR
2. % fa=m
3. ¢ 3{Uel
4. % JUE

Question Number : 193 Question Id : 7532297273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AP AR g 1’- Nad M 1RA & fore 3fud wrse g
Options :

1. ® QX

2. % fa=m

3. 3{Uel

4. % JUE

Question Number : 194 Question Id : 7532297274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAWE P UeA & - Faa =M WA & forg 3fra wrse giu|
Options :

1. % {HH

2. % HMHH

3. % HHY

4, ¢ HHY

Question Number : 194 Question Id : 7532297274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y ARG ! e g 1°- o =M 1A & fore 3fea wee gl

Options :




1. % gHHE
2. % {HA
3. % gHY
4. % HHY

Question Number : 195 Question Id : 7532297275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ggl og, g 1 - Rad ®iF R & e 3fd wsg gfAul
Options :

1. % DI

2./ DIS

3. % |l

4. % HY

Question Number : 195 Question Id : 7532297275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gl og, g 1 - Rad M R & e Ifd weg gfw|

Options :

1. % B

2. ¥ By

3. % ol

4. % HY

Sub-Section Number : 2

Sub-Section Id : 753229451
Question Shuffling Allowed : Yes

Question Id : 7532297276 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)



fafifad MY &) ugeR Uy & IR R

TidoN T & T g3 Faare ¥ | a1 e -fre W srisha FuiRa giar uni g7 MufRd g9 3 <3 e &1 faews 81 mar o7 oik
7o Step I SOl SUHT GIRT BRIHH B 1 U, 3fYTd Teb MGHT T TR TR A b1 A= b e | b 4 3511 g W S
3R SR 3 311 Ul o o & semerare fyfaearas & giber €1 ofR 3 oft g sifcia & 9 1921 W W 1S fear |
3y g o el o) 9 R Wfa 50 0 o are o 72 3R TR ThER 811 TR §uTs ¢ | aifasT 3o el &t ugh ¥ vl Aabraa
g, “MHIR B! g fAe B1 2R 81 1S 1 IR-IR SR fear <aq frer - «ag firge &1 G 81 718 3R 4 a1 & 3ifod Wi § 3= Sl o1
P!, IUY G SI1a- HR DI T YYD URUM UT g5 | 3611 D&, ofd WHIR B &4 fIFe B R gl & df 39D [9ardf &1 g8 8¢ &l &
i g1 ora faemif 6 gu o ot QR Biclt & ) THT ) &9 HeH @i X BXdl 8 | 3fd IS 1 58 HgH &1 &R Bicll 8, a9 o=1 g9 ayf diey g
ST & | AR b1 &4 T o1 &) &=1 1 34 ay Ul o Oiidl) & | 3R G311 BT, A §1d 31cb & 7 UIhIR A5 H &1 IR gl | H g,
“§TY, X P foTT &1 Agar § 1 1Y o1 HHAT G 3 xal &1 17 Igi- did TR H Hgl- “Hi BI AHaT U= 5718 § SR JHg B 1 S0+t
SITE | GIFI T SIaT-31aT g1 A1feu |~

Sub questions

Question Number : 196 Question Id : 7532297277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T o foTe Juge e -
Options :

1. % el

2. ¥ JHY D] Hgd

3. % IR

4. % Tt THAT

Question Number : 197 Question Id : 7532297278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR bl o e o1 3 gt & ol st & § o =gl gidi g2
Options :

1. % faEff B R S B

2. % U Bl R B B

3. % QRTUTRS Tl oI 3|

4. ¢ T &S ST



Question Number : 198 Question Id : 7532297279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
MHIR DI Tiefon I e ugaq § faava &1 a1 SR U1
Options :

1. % ¢ fadftaa o

2. ¢ Ul I HAAT A R B G

3. % SIHFAREU R Y T

4. % TTP & UTg gal Tal AT

Question Number : 199 Question Id : 7532297280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TefiST T gERT HRIHH FT UT?

Options :

1. % it B S

2. % 3G 3Gl o feTg HTHOT S ST |
3. % AT AT T

4, IR BT 1|

Question Number : 200 Question Id : 7532297281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“TT &} AHIT 3O SIS 3 3R JHY B} 71y 370t S8 B 1 J T ey 82
Options :

1. % O &I AT 3R TG &1 71 — g1 & S-S0t i 8

2. % HI ! AHAT 3R AT D1 71 - GIH1 BT - AT 8|

3. & YT 3R S-Sl &l 3T G 1T

4. % A D! HAD JHY B A D1 78] Ubs Tl |

Question Id : 7532297276 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions



: No
Question Numbers : (196 to 200)

frafafad T & ugHr Uy & IR <l

TidIoN Ty & T g Fdarep U | a1 e -fre W srisha RuiRd gidr o1l g7 RufRd a9 § <3 fire &1 faevs 81 mar o7 ok
Tl Ste T ol U1 GIRT BRhH B eI U, YT Teh SHTGH! Ih TRR WR el b HIer 1 | R Hi I614 8¢ WA 9311
3R AR 3 3R7 uRe o & & garersre fayfaeras & itheR g1 iR 87 ot eragdiT sfiger & T 1921 H W ois far ol
3Ty gt fob TiTefiolt o1 a8 Rt W 30 90 ot a1 o1 718 3R TR hER §iF WR 9TS &1 difdh SfuT et &t Ugh ¥ ge! Faraed
HET, “UHIR B & HC BT R 81 718 17 TR-IR SR a1 “5 fiFe” - «g¥ fime &1 SR 81 78 3R 330t a1 & sifam Wi & I5iA S &l
e, IGY H Siia HR BT U 3Ygd IRUM U 8% | 3611 g, Siel NhaR 1 < fire Bt R gl 8 ) 39 [ ca ve I &R
g g1 ofs Taenelf &1 g1 € 1 SR BIdl @ o) GHT I &¥ HeH i GBIl ¢ | STd IS I GH gl &I & Bl &, a8 o1 ¢4 ay uTe Ialm
ST § | PR b1 &4 e &1 &) &=1 1 39 ay Ul o Wil &1 1R G318 T, 2 a1d 31 & 1 IR A1ge?” H &1 IR gl | H P,
“§Y, X & foTT &1 ATEaT g | A ! THAT A G5 3 dxal &l |2 3517 oid WR H Hel- <A DI AHdT 3T 5118 § SR THI DI 1T {01
STE €1 Gl B SIQT- 31T I AR |~

Sub questions

Question Number : 196 Question Id : 7532297277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tl o ferg SugeR < -
Options :

1. % Tiiefeh

2. % JHY D] Hed

3. % TIHER

4. % T ! gHaT

Question Number : 197 Question Id : 7532297278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STd UIhER 1 &4 fie 31 & gidht & ) Fafafed o 3 o1 181 gian 82

Options :

1. % e R AR B
2. % GHS B XA Bl



3. % e Ui Il oaT ol
4. ¥ ATES A Bl

Question Number : 198 Question Id : 7532297279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MHIR DI Tiefon I e ugan # faara &1 a1 SR U
Options :

1. % ¢ foafead i

2. ¢ HI B HHAT A R B G|

3. % JIFEREU R Y 3

4. % WP & g gel Tt At

Question Number : 199 Question Id : 7532297280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TefiST BT gERT BRI FT UT?

Options :

1. % it B S Tl

2. % 3MHEINT IGIeH o feTg HIYUT G ST |
3. % AT JAET T

4. HIRT=T BT 1|

Question Number : 200 Question Id : 7532297281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“TT D FHAT U SIS § 3R THT P 71 370 STe & 1 I o1 Ty g2
Options :

1. % T D AHAT 3R 9T Bt T - GHT P SO-319-1 Tfd 3|

2. % T ! AU 3R JHY &1 1A - GF1 BT RIF (T 8|

3. ¢ YIS 3R Haod- GIHI P S(QT @ A1 |

4. % A1 B AT THY o1 7T B 78] Ubs bl







